vawe

SHINBRSR

Centralized Lubrication System

IN\N=] S A
NCIlEVE
Company Profile

FmETE

Product collection diagram

4-6

ARAEBRAERE

Positive displacement lubrication system assembly drawing

MEIVEFE RS E

Assembly drawing of pressurized lubrication system

RPN EBRAEERE

Assembly drawing of resistance lubrication system

i IVEBE R AR E

Progressive lubrication system assembly drawing

10

MR (PLCFI%EE M)

Grease pump (PLC and microcomputer)

11-12

13-14

SHBESR (PLCADfYEBAR)

Grease pump (PLC and microcomputer)

fmiR (PLCEREHL)

Thin oil pump (PLC shaded pole motor)

16-19

WomimAER (PLCRD )

Thin oil grease pump (PLC asynchronous motor)

20-22

WomRAEME (SEWREN)

Thin oil pump microcomputer type (shaded pole motor)

23-26

WHHERMERE (BRI BH)

Thin oil grease pump microcomputer type (asynchronous motor)

27-29

ARBERBHER (HHERE)

Large capacity thin oil grease pump (microcomputer type)

30

ARBEEWRMBHBER (PLCE)
Large capacity thin oil grease pump (PLC type)

T =

31-32

I %g Sprayer

33

HMER (PLCAIfEEAXEY)

Oil mist pump (PLC and microcomputer type)

%E EjJ ﬁ Hand pump

34-35

36-37

*% 2£ ﬁ Cycloid pump

ﬁj\ EE%& Distributor

38

ij ;\’;‘E\%% Filter

39-49

50-51

BE ~;}Itl.. *ZF Restrictor rod

;l\i—_l 5'%‘ MT_I. 14: Lubrication accessories

52

53-59

S A
JHE Tubing

60-62

j]l] 5E *ﬁ Fuel gun
5$ % -Iv+ %: Oil calculation

63

P%-ﬁ JI_IL: m Bﬁ 1:1F IZ/% 5% Common troubleshooting methods

www.xingweirh.com

64-65

66-67




vawe i
Centralized Lubrication System

Rl

ﬁﬁiﬁi ’;EHEE \ Thinoilgrease pump

www.xingweirh.com




S vawe
Centralized Lubrication System
o compresein
(with spring compression 000#-2#) 'm HE 7R\ TH gﬁgﬁgﬁ'OOO#-Z#

Grease pump (without

spring compression @ T PE P S g T [T

suitable for 000#-00#)

= === =]

www.xingweirh.com




SHEABRE

Centralized Lubrication System

i m il m

SwPIRP ITTIoses
WARRN T L EAESIJE Wy

www.xingweirh.com




AR vawe
Centralized Lubrication System

s =8 gt [ Installation Diagram of Volumetric
BRXDERKLEIE |

8
e

'\ EC-1106

EB-6 EA-6

e @ —E8 2!

ED-418—>

-v'_"ﬁ!ﬂ—tia . —
-- =0 ¢ 83— 3 8 OGl,

FRAXE P HIEERGHA

Description of the volumetric centralized thin oil lubricating system

FRABDBRFAHBRADBR T RME . EEX MR, FRADERS. WELHESREEMN,
EBRAEE (REXEELH) 1 (NMEXEEHH) WAk,

The volumetric lubricating system is composed of volumetric lubricating pump and oil filter, through oil distribution block, volumetric distributor,
copper joint and oil pipe etc..The lubricating system is composed of two types of oil delivery.namely, the decompression quantified oil delivery and the

pressurized quantifiec oil delivery.

www.xingweirh.com




vawe i
Centralized Lubrication System
o= I g4 = Installation Diagram of Volumetric
buEEtlli.l IEI%?%JWEE = lLubrication System

=8 ﬁ
B EA-4 EA-4_EB-4 Hale
£ {—| W = 3 ﬁ

B B @ B

v ;)\)?
e

EC-1106 \__VAG-04 \ ES-10Z

i)

'\ EC-1106

EA-6 EB-6 EB-6 EA-6

VAG-05
amyearas
———{%q;ﬁ#:ﬂ-9 |
EB-4 —» @ @ @ @ @
me— 58888
BoU0o
® a8 @
w8 B HEE
RN

DNEUSE ik i g R SR

Overview of pressurized centralized thin oil lubrication system

INETCHESD B3 25 BRIEAIE D EH AN, REEDGIMEE1Skgbl EFTAIINEBRAINE, ZRR
& FO00#Z 1 #iHi8 MR,

Pressurized grease distributor is used to control the size of oil output by the resistance of the screw, and the pressure of the system must be more than

15kg Can be pressurized oil drainage and refueling, the system is suitable for 000# to 1# lubricating oil machinery;

www.xingweirh.com 8




i vawe
Centralized Lubrication System

Installation Diagram of Volumetric
*R*n'_t -'I'EI?QF IE. lLubrication System

EH-418

EH-418 EB-4 EA-4

ﬂﬂﬁ é_
PT1/8%F /E |

EH-418  EB-4 EA-4

PT1/8%F ¥ .

TO.

AR5 AR R R e % =
Overview of resistance concentrated thin oil lubrication system Ry

DPCEUERAITEBH X EMRALAIX ELEXNEW, ARBRRTNEMEENES: 0.2MPaBE BTRRBEHIRE, RRBEND (RE
EH) WRERTLLHINE. ARASTEABEBRATEEEAEBNEZ. . &. K. BMESIEYELRGERFRENEEREE. #H
Hwi, WABRLSREEERESHININERE (RESES) BIEERBESHRKINEK. IERS, HHW%E; thlEkaBaRpE
o, WRITEMNERBSHRGE, HHLEHHAHER. RELL: F—RSHREELGERIEFLARERENTHUNENHER
EMREEW.

DPC type resistance metering piece is also referred to as the proportional joint pipe type structure, with a restrictor rod and a one-way valve inside.
Start-up pressure: 0.2MPa controls the flow rate through the throttling principle, and proportionally matches the flow rate according to the flow capacity
(flow rate). In the relubrication system of the same type of metering parts, the distance between the far, near, high, low, horizontal or vertical installation
is basically the same in actual lining use. Long service life, the proportional joint single-phase rubber seal is lined with a copper sleeve (except the sealing

surface) to prevent expansion and aging of the rubber seal.

The action is sensitive and the oil drain is smooth; the proportional joint single-phase valve adopts a conical spring to ensure the sensitive action of the
metering piece and the smooth oil drain, and prevent the drained oil from flowing back.Flow rate ratio: The flow rate of the unified model will change due
to the change of ambient temperature and the difference of some viscosity during actual use.

9

www.xingweirh.com




ShiABRS

Centralized Lubrication System

Progressive lubrication system

Sa 3% > I -
ﬁl&ﬁlli.l Iﬁ%éﬁﬁﬁa lassembly drawing

'\ EC-1106

R _EC-1106_

i = 8 P iR R R

Overview of progressive centralized thin oil lubrication system

SAHORMRZEIRRSEEEOKRE, RE-HBOEEEFF

D AL Sk,

The status of each outlet represents the status of all outlets, as long as there is a problem with one

Y
| & =
outlet, it can be confirmed immediately.

10

www.xingweirh.com



ShiHBRSE

Centralized Lubrication System

PLCHENF AR

PLC plunger grease pump

- ; EAG - DDD{II]DDQ

et ESis) PUE
Types of control PZOSW\:;/“?:‘EZOCC/ -
mE min
R PLCIES%E ULEE
PLC controller 40W | FES0CC/min
BRI -
B | Builtin contraller iz v U
prepn Oil level detection
c| #EE =0 [ TEBRES
eparate controller !
blank | No low oil level alarm
p | PIEHAIEERE
With a low oil level alarm
B R fuspic:[mESid]
Type of lubrication system Type of outlet
X | B volumetric L | Ef#ELRight Angle connector
T | &K Resistance D | BB L Through joint
pip::[mpi 7w
EAFE Fillingpoixﬁ)tm
Pressure switch H | 85 HM¥Grease nipple
=0 [FHEDFE y | REBEEIEEE
blank |Without pressure switch Quick plug refueling nozzle
p |[BEDFFRX B | Eoiffgid iR Grease filter
With pressure switch

HROER
Outlet pipe diameter

mREER ————————— 6o [8]®s

Tank volume

BARBE
280 015 1.5L The input voltage
2 2L 1 | 248 Single phase 110V
3 3L 2 | B4ESingle phase 220V
3 o . 3 | bC12V
HHERRAREE P EREM
* Tank capacity can be customized according to 4 [ DC24V
_ customer requirements
L ]
HEERDFFR Performance & Characteristics
° E_"EEEEH'LP LCEEZ_T\S‘ZE%U %g}_?éf_ﬁu TAEHETIER ,HE, ® The working cycle of the lubricating oil pump can be controlled by the host PLC
or an independent controller.
° iﬁ%mﬁﬁ EDE%E , % ;li]fﬁ iﬂiﬁf%.ltiiﬁﬁﬁ {%%éﬁ E iﬂ‘F&iEfEDE, e Equipped witha .solenoid valve pressure reliefdevice? when the lul_::ricating. oil
pump stops running to ensure that the system automatically and quickly relieve
cRAPERES, TEEREEHBHENIEEHREREIERS; pressure.

© Equipped with a pressure regulating valve device, which can independently set

iﬁﬁﬁk%ﬁﬂ , ﬂﬁFBﬁﬂﬂ%fBﬂﬁﬂ? W §%ﬁﬁﬁﬂﬂ%fﬁﬂ§ﬁﬁﬂii§%, the working pressure of the lubricating oil pump to ensure its safety.

® Equipped with exhaust valve, it can eliminate the air in the lubricating oil pump

N N dE=E e s = i h h disch f the lubricati il .
195%1!35&{3‘[?5%%5, é;BﬂEKEETJ, %EH&';E%{E%, cavity to ensure the smooth discharge of the lubricating oil pump

© With low oil level alarm device, when the oil is insufficient, an alarm signal will

T {3 A DR e PR T 58 )0 R A A R INSAE , T8 be issued.

© Please use a grease gun to add grease to the oil pump storage tank through the
7u V=D 4 B =05 425 grease filter to avoid.
%Z’:E ’ fﬁq'tb Aﬂlgg‘EmMﬁﬁkﬁllﬂlg’%‘ﬁ’ ® No impurities, air is mixed into the lubrication system to improve the
= aEL 9 o Sl 3= L N sga y lubrication system.
HBRRT LR ENFREROCNEBSRREEREEE TR

® Lubricating oil pump can be installed with a pressure switch to effectively
SEAFERAR;
© Wait for insufficient pressure.

o RABEXERRETIRIE; .

detect whether the main pipeline of the lubricating oil pump is interrupted or
leaking.

Vacuum oil absorption by spring type oil pressure plate.

B #E B LI mEsE i . i
Specifications FLOW voltage Motor Power oil tank Volume pressure Oil viscosity
E?&:ﬂ%b@é%&g)% 20cc/min #Big110V 25W 8.0MPa 000#-1#
E’?&:%E%LZQ%T&%% 20cc/min 18220V 25W o i 8.0MPa 000#-1#
o)
E(%E—Sgglgﬁggﬁgjs 50cc/min 18220V 55W RS R 15MPa 000#-3#
E’?&?BZTZ%LZ;%‘&%“O 50cc/min 18220V 40W 15MPa 000#-34#

www.xingweirh.com

11




vawe

SHINBRSR

Centralized Lubrication System

B ERSEEN T MR

Piston type grease pump with display

252 |

357.5

P EERBEEHAER

Separate display plunger grease pump

HRIFIREA:

1. TERFEIRRE :
BRESETENMF AN NTFZE, ROORIRE ML
B, BIESETHIEHMEZOOBIZEHUEATE, BT
SETEBENENIE, ROVEIEEBTMEATE(1-999%);
2 [B)ERET [EIRRE «
T {ERT )R E Tt B IR S E THEL28) Bk 5h I (8 8R A /B A9 Mz
, ROORIGERE, B TFSETEINT TS, &ROVRIR
ERE, B FSETRHENTME, & OORIZERE, (1-
999 /N )IREFRES, KIRSETRHANIER TIERT;
3.RSTRAGERREHNE, BERENRERE;

4 ARIEEFIERE, #ALUB(I/E)SINT(B8R)EREERIK
=
5.EROINMKAT, RHMEAEBEMEINNHENERIRE;
6.ERPINIRES, FEREHNRE, SREHREELIFERELH
EXRETERARERAARSHEIAE;
7 BRRMIEERER, FTF/NFXLATHESETRIZE, F
BEMENRTEIRE, RSTRIIEE fEF;
8. BB i P9 1R 15 (B BR AT I W FR I 12088, FTFFINFF R N B
ISR,

www.xingweirh.com

Instructions:

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®sbutton to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7. Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Then you can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;

12




ShiHBRSE

Centralized Lubrication System

PLCHZEIHAER

PLC plunger grease pump

EAS- [ [ JL I -0 ]- DDQ

5 y WERE
TE?EU%& Power/flow
ypes of control 25w | ZE20CC/mi
ILEE min
A | PLCER%IE -
PLC controller 40W | FES0CC/min
Bhlge SR
B Builtincontrofter g?l{l%&‘ ﬂf}g(emon
N vad
c | pEEmE =0 [ iR 2
P blank | No low oil level alarm
p | FEMmARES
With a low oil level alarm
fEn B -
Type of lubrication system Type of outlet
X | B volumetric L | B LRight Angle connector
T | K Resistance D | BB L Through joint
I ImE e
| 230 | Ebﬂ:* Flllmgpott form A
- Pressure switch H | #EifMEGrease nipple
=H | RNHEEDFX v RIETCONEBE
blank |Without pressure switch Quick plug refueling nozzle
P HEAFFR B | BoHPEIT RS Grease filter
With pressure switch

HHOER
Outlet pipe diameter
SHAEER e e 1 0 [8] s

Tank volume

310 BWANRBE
015 L.5L The input voltage
2 2L 1 | %48 Single phase 110V
3 3L 2 | BtESingle phase 220V
l:l : e - 3 | pCi2v
- HHERRARERPZREM
|25 * Tank capacity can be customized according to 4 | DC24V
1 92 = customer requirements
66
L o]
IEEERD4F R Performance & Characteristics
° EJ]\.EEEEH-LP LCEE?ES‘Z%E%U %%}?E%U ﬂi-ﬁ% ;‘HJEI{IE% ,HE . ® The v&fo;king Zyclte oftthelllubricating oil pump can be controlled by the host PLC
or an independent controller.
° iﬁ%mﬁﬂ ﬁu&%g , % ﬂﬂ;‘ﬁ iﬁiﬁféiiifiﬁﬁ{%%éﬁ E Ej]'l?&iiﬁmf e Equipped witha _solenoid valve pressure reliefdevice? when the lut')ricating- oil
pump stops running to ensure that the system automatically and quickly relieve
-REREELE, TEEREEBRRNIEENRERT RS o | e
© Equipped with a pressure regulating valve device, which can independently set
T W NN 7% = N RN Neapy h ki fthe lubricati il i fety.
CREHSE, THRDEEREAS SRR R B the working pessurs o the Lbricating ol pump o ensure i safery.
. Equipped with exhaust valve, it can eliminate the air in the lubricating oil pump
. iﬁﬁ{EEiEE {S‘HE%%E , % iHﬂEZ:EETJ , %ﬁ Hj ;E%{g% cavity to ensure the smooth discharge of the lubricating oil pump.

© With low oil level alarm device, when the oil is insufficient, an alarm signal will

T {3 P DR e PR 58 )0 R A A R INSAE , T8 be issued.

o Please use a grease gun to add grease to the oil pump storage tank through the

. Sa = ) e 4 RN 4 grease filter to avoid
%’TE ’ fﬁq'm ;If‘l '%’%36 P\] Mﬁ.ﬁk = 'If‘l ,%,%jﬁ. © No impurities, air is mixed into the lubrication system to improve the
SoaE 5 Sl S SEL 3 sy lubrication system.
3N 3 -L A S S 3 N = oK 353
¢ 'lﬂl%,mﬁﬂﬁﬁ}:—ttﬂ:*ﬁﬂﬁg*m'mu'li‘llﬁ ’BJEEE = 'EE%XE:' EFI&E'%'E o Lubricating oil pump can be installed with a pressure switch to effectively
detect whether the main pipeline of the lubricating oil pump is interrupted or
EENFERR. eaking
© Wait for insufficient pressure.
rd 3 22 3]
¢ *ﬁﬁ gE%EﬁE’EﬁEﬁE ﬂ& ’Ea ® Vacuum oil absorption by spring type oil pressure plate.

%mm%@%&}iﬂi;‘éa‘i Specifications and technical parameters

BSiE B syl AR Vo R, S
Specifications voltage Motor Power oil tank Volume ) Qil viscosity
pressure

EAS-AT015-16Y-LB25 : _
(B: 110V EZhkR) 20ce/min g0V 25W 8.0MPa 000#-1#

EAS-BT015-26Y-LB25 : _
(1. 220VE B hi%E) 20cc/min 818220V 25W s () 8.0MPa 000#-1#

. AV
HERER EH

EAS-AT015-46Y-LB55 . B
(. DC24VEEmhina) 50ce/min giR220v 55W 15MPa 000#-3#

EAS-BT015-26Y-LB40 . _
(Bl: 220V4 EzhieR) 50cc/min 220V 40W 15MPa 000#-3#

www.xingweirh.com

13



vawe

ShiABRS

Centralized Lubrication System

B ERSBHEZEVHIER

Piston type grease pump with display

252 |

357.5

SEETEHER MR

Separate display plunger grease pump

HRIFIREA:

1. TIERSENRRE :

BRZSETRUMFRANKNTFRE, ROOEIRENMIEA
18, FBIRSETHmEIHusizeoRIgE+RIAdE, BRT
SETRBLMBEME, ROVRIREBMEAE(1-999%);

2. [B)ERATE)IR E :

T1ERT 1R E SR /A iR AES E THRL92FD B ah 2 [8) 81 A (8] A9 Mz
%, ROORIRERE, HTSETHRHENRTAIE, &R OORIR
ERfE, BRTSETRENBMEY, & OvRRENE, (1-
Q99D tH/NE IR ETS G, KESETRHEANLERE TIERT;
3.RSTRALEFRNIENE, BAERENSERE,

4 HRREIFREE, HALUB(IE)SINT (880 E IR iEiEIX
o

5.EROINMKRY, RNMEBAEFEMNENFHENBRIRE;
6.ERPIIRREY, RRENRE, FHEHRREETFIERRH
EXRETEREIEBRBAARSBEDTE;

7 BRIRAIREERES, FTH/NFRLATSUESETRIZE, &~
REE BT EIRE, RSTAIIEEER;

8.FE X iR B (B BR AT (B WTFR IS 1ZT08E, FTFFAINFFRLEE BT
BICIZRTE;

www.xingweirh.com

Instructions:

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®sbutton to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®@ button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7. Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Then you can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;

14




ShiHBRSE

Centralized Lubrication System

VG220

|fI§Eﬂ:\[]1%,.'5\ Performance & Characteristics

cRETSRE, EEBHER
o SR E B ENERPLCES SIRE;

-015X wsnizam (=man)

170

145

124

c RABHKHEENERER, BARHENRE, B/, FaHK

* BERUARMNINGE;

- BEEEHMBENE, SRNERASERERTRDREDERR.

FES% Parameters

B E
Voltage(V)

BtHIh =
Puwer(W)

BMEES

Kgf(cm?)

BAEN
Kgf(cm?)

Easy to install and easy to connect;

Oil supply time is controlled and set by the host
computer PLC;

Special alloy steel gear pump with stable output
pressure,low noise and long life;

Low level detection;

It has automatic decompression function, and
the use of the detection volume distri butor can
give full play to the lubrication effect.

HESR
Qill tank capacity(L)

HHE EFRRLE

cc/min c/st

VC2202-015X 220V 18 0.35 15-20 30 1.5 100-150 30-1000
VC2201-015X 110V 18 0.35 15-20 30 1.5 100-150 30-1000
VC2202-01515X 220V 18 0.35 15-20 30 1.5 100-150 30-1000

##2% B Connetion diagram
AL

LR
AT —2aviR g

/

A — o
B — o

BXx— -
T — ~

BREE N

24VIRZ(BRIN)

VC2202-01515X :15KGEAFRENFFRX  VC2202-015X A EHFF*

AL
LR
R AT

R
& — s
E&— o
FH— o

BT RIS E D FFRIRSZ =1

24VHR 54T
R AT
A N
[
e
% [1[2]a]a]s[e] 7)o
FTTTTTTTT §w
K EARAD ED /i
N R
x X
57
EE{EE

www.xingweirh.com

15

[@Né 1) 8]



vawe s ARG
Centralized Lubrication System

DE220 =018X wizam (=man)

210

123

185

o100 N

||'E§E}T\[]:LI%,.5.\ Performance & Characteristics
» Easy toinstall and easy to connect;

o LEEFE, BEEHE, » il supply time is controlled and set by the host
computer PLC;
o MY AR ENBMPLCES 518 E ; i )
o Special alloy stegl gear pump_wnh stable output
- REBKESMERE, BENHENRE, BEN, FHK; pressure,low noise and long Ife;

o BERAARBNIHEE: » Low level detection;
¢ It has automatic decompression function, and

- EREMEEDRE, SEASRASRBMEFTRDRFERBRR,; the use of the detection volume distri butor can

» give full play to the lubrication effect.
FE2% Parameters

B E EnfaeprES b BEES BRKED AR ItH= ERME

Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?®) Oilltank capacity(L)  cc/min c/st
DE2202-018X 220V 18 0.35 15-20 30 1.8 100-150 30-1000
DE2201-018X 110V 18 0.35 15-20 30 1.8 100-150 30-1000
DE2201-01815X 220V 18 0.35 15-20 30 1.8 100-150 30-1000

- - DE2202-01815X :#15KGEAFX  DE2202-018X R EHFFE
##2% B Connetion diagram

HAL .l

CER w0 H YR 24V 4T
TR 24V T TR AT
r— & — )
TR IT
# |N F s
I o
N | @ | ]
112(3[4]5 1|2|3|4|5|6 9‘%‘1‘2‘3‘4‘5‘6‘7‘8
[T 1T FTTT T [TTTTTTT gwm
K EAW K E WO E K EARD ELD H &
2 7 4 3k 47 R A A &8 g AL AT
=1 R D =3
£57 2 %
24VIRE(BRIN) BITRAIIR S [E D FF RIS EElEs

www.xingweirh.com

16



bk vawe
Centralized Lubrication System

V(G220 =200X wznmes (=g

212 137
175

“EﬁEﬂ:\Ui%,.‘J—T_! Performance & Characteristics

o Easy to install and easy to connect;

o RET5E, Egﬁﬁ%, o Oil supply time is controlled and set by the host
computer PLC;
o MBS A R EY B RPLCIES SR E; ) .
o Special alloy steel gear pump with stable output
CRABHOSWERR, AEREENRE, BN, 0K pressure-low noise and fong [
- BEBUR R ,EHIJJEIE, e Low level detection;
. Eﬁﬁﬁﬂﬂﬂﬁ:l}]ﬁg, '—5*@%[]@*,‘?:3:5:}@3%%@%ﬂ?ﬁﬁﬁ?ﬁflﬂ)g‘;&%, o It has automatic decompression function, and

the use of the detection volume distri butor can
give full play to the lubrication effect.

FESH Parameters

B E IR p BEES =RAEN MEER It ERKE

Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?) Oill tank capacity(L)  cc/min clst
VC2202-200X 220V 18 0.35 15-20 30 2 100-150 30-1000
VC2201-200X 110V 18 0.35 15-20 30 2 100-150 30-1000
VC2202-215X 220V 18 0.35 15-20 30 2 100-150 30-1000

VC2202-215X :#15KGEHFFH  VC2202-200X R EHFFHE
##2% B Connetion diagram

AL
v L e
BRI —24ViR )T AT
— . |
AT
I o
5 | | | ]
1]2|3|4l5 1]2]3|4|5|6 %MZM
[TTT] FTTTTT [T 1
K BN W Ko FE W R K E
% 5l £k I 7 2R I A A %5 %
-} P S
2 24 3
24VIRE(ZRIN) RIT RIS E TR EE{EE

www.xingweirh.com

17



vawe sERARS
Centralized Lubrication System

V(G220 400X wzmes (=imei)

270
278
232
(" L
b »
I
=7 Tl

0 ~NN

“EﬁEﬂ:\Ui%,.‘J—T_! Performance & Characteristics
e Easy toinstall and easy to connect;

o REEFE, BAEE; « Oil supply time is controlled and set by the host
computer PLC;
o fHAT B R EHLEBMPLCIEH 512 %E ) )
o Special alloy stegl gear pump.wnh stable output
- REKKESMERE, RENHENRE, BEN, EHK; pressure low noise and long ffe;
Sk N « Low level detection;
c BERMNARUNIhEE;
» It has automatic decompression function, and

- R BMEEDLE, '—5*&%[]%"&:‘:%:}@3%%@}5@EI}E%E}E?E;‘%W%; the use of the detection volume distri butor can
give full play to the lubrication effect.

FESH Parameters

B E HHINER b BEEN BAEN AR tHE ERKE

Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?) Oill tank capacity(L) cc/min clst
VC2202-400X 220V 18 0.35 15-20 30 4 100-150 30-1000
VC2201-400X 110V 18 0.35 15-20 30 4 100-150 30-1000
VC2202-410X 220V 18 0.35 15-20 30 4 100-150 30-1000

R VC2202-415X #15KGENFFRE  VC2202-400X R EHFFX
##2% B Connetion diagram

HAL .l

i M LA
BRI —24ViR AT TR AT
P — & — )
TR IT
I o
% ‘[ ‘[ i ]
112|3|4|5 1(2|3[4|5|6 9‘%‘1‘2‘3‘
[T 1T FTTTT [T
K EAW K FW B IE K E
2 7)) % 3L AL E2 2 2 R VA VA &5 &
KoM X X
£33 2 %
24VIRZE(BKIN) BT AIIR I E D FFRIRZ EEXiEL

www.xingweirh.com

18



bk vawe
Centralized Lubrication System

VG220 =1000X w=mes (=iramn)

460 220

430

oON

||'$§Eﬂ:\[]1%,.‘J—T_! Performance & Characteristics

e Easy toinstall and easy to connect;

o REFE, BAREE; « Oil supply time is controlled and set by the host
computer PLC;
o fEHATEI R EHVLEBMPLCIEH 512 %E Speci )
o Special alloy stefal gear pump'W|th stable output
- REKKESMERE, RERHEDRE, BEN, EHK; pressure low noise and long ffe;
- BERGREENIEE: « Low level detection;
CEEEPBEDSE, SRR SREERTES RIEDBNE; ¢ It has automatic decompression function, and

the use of the detection volume distri butor can
give full play to the lubrication effect.

FES# Parameters

B E HHIDER b BEESH =AED HESRR it ERME

Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?) Oill tank capacity(L) cc/min c/st
VC2202-1000X 220V 18 0.35 15-20 30 10 100-150 30-1000
VC2201-1000X 110V 18 0.35 15-20 30 10 100-150 30-1000
VC2202-1015X 220V 18 0.35 15-20 30 10 100-150 30-1000

VC2202-1016X :#H15KGEDFFX  VC2202-1000X AR ELFFX

##2% B Connetion diagram

= - “{Eﬁ*ﬂ%ﬁ 24Vif 847
TR 24 ViR AT eI
[ ) & ] ]
RN
3 |IN F s TN
vin -
N | 2 | |
112(3|4|5 112(3[4|5/|6 9‘%‘1‘2‘3‘45678‘
[T 1T T TTT] [TTTTTTT 5w
K FEA W KR EW W K EARL KL A i
243 £k 3 7)) AL AL A &8 g AL AT
D =} U3 V-
24VIRE(EKIA) BT RAIRIE D FFRIESZ EEliEs

www.xingweirh.com

19




vawe s ARG
Centralized Lubrication System

VL220 =200X wzmEs (e

212 137

175

|fI§Eﬂ:\[]1%,.'5\ Performance & Characteristics
» Easy to install and easy to connect;

c REGE, BEBE » Oil supply time is controlled and set by the host computer PLC;
M B R EVBRPLCESSIEE; » Special alloy steel gear pump with stable output pressure,
low noise and long life;
c RAKHESENERER, BEEREENRE, BRI, FHK;
BEBRMNANEMUNIIEE;

« Low level detection;

» It has automatic decompression function, and the use of the

. EEEDBEDL, SREOSEAPREEETRS BIEDENE: gggecctflon volume distributor can give full play to the lubrication
o BEEHTEETEERETF TENDRENIRE; » Asynchronous motor can work continuously and is suitable

for equipment with long working time.
FES % Parameters

B E R IhE b MEEN BKRKED HEER ItHE
Voltage(V) Puwer(W) Kgf(cm?®) Kgf(cm?) Oill tank capacity(L) cc/min
V0L2202-200X 220V 35 0.35 15-20 40 2 100-150 30-1000
V0L2201-200X 110V 35 0.35 15-20 40 2 100-150 30-1000
V0L2202-215X 220V 35 0.35 15-20 40 2 100-150 30-1000
HBEEC 13504584 #5iHMEE2800%% Bl VL2202-215X [#15KGEDFFEK VL2202-200X A EHFF*
##2% B Connetion diagram
S M/E'E””LEME 24V AT
TR 24 ViR AT TR AT
r————— 3 J & ) — J ZER/ RN
AT
1 |IN s N
] [ 4 || ]
K I
112(3|4|5 112(3[4|5/|6 9‘%‘1‘2‘3‘4‘5‘6‘7‘8
[T TT] T TTT] [TTTTTTT &w
K EAW K FW B IE K AW R L A
243 £k 3 7)) AL AL A L7 & AT AT
XM K X M
57 % %%
24VIRE(EKIA) BT AIIR I E D FFRIRZ EEliEs

www.xingweirh.com

20




bk vawe
Centralized Lubrication System

VL220 400X wzmEs (e

270

278

232

|E§Eﬂ:\[]1%,.'5\ Performance & Characteristics
» Easy to install and easy to connect;

c REGE, BEBE » Oil supply time is controlled and set by the host computer PLC;

M B R EVBRPLCESSIEE; » Special alloy steel gear pump with stable output pressure,
T low noise and long life;

c RAKHESENERER, BEEREENRE, BRI, FHK;

BEBERMUFBONINEE;

« Low level detection;

» It has automatic decompression function, and the use of the

. EEEDBEDL, SREOSEAPREEETRS BIEDENE: g?fgeccglon volume distributor can give full play to the lubrication
o BEEHTEETEERETF TENDRENIRE; » Asynchronous motor can work continuously and is suitable

for equipment with long working time.
FES % Parameters

B E B IR i EEESN =AESD HEER tHE
Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?) Oill tank capacity(L) cc/min
V0L2202-400X 220V 35 0.35 15-20 40 4 200-300 30-00#
VL2201-400X 110V 35 0.35 15-20 40 4 200-300 30-00#
VL2202-415X 220V 35 0.35 15-20 40 4 200-300 30-00#
HESER1 35055 B4 BSMAZ280055EAL V0L2202-415X :H15KGEDFFK VIL2202-400X R EHFFX
##2% B Connetion diagram
AL
R g i
AT —oavip gy iyl
— & —
R T
5| IN s N
] [ 4 || ]
* I
1]2]3|4]|s 1|2|3]4|5|6 9‘%‘1‘2‘3‘
T TTT1 FTTTTI [T
Ko AW KA EWRE K E
23 &It L ol R ARV % &
Ko X X
% % %
24VIRE(BIN) BITRIRIZ ENDFFRIRZ EEXEL

www.xingweirh.com

21



vawe

ShiABRS

Centralized Lubrication System

VL220

=1000X w:nmes (s5=m)

460

220

430

“;ﬁEI:ﬁU:I%,.‘J—T_{ Performance & Characteristics

o RETE, ELBHE,

ALHAT E) B EA LB RPLCIE R 518 E;

c REBHAENERER, BRARHENRE, BE/), F9K
BEERUFBONINEE;

EEEmMBEDRE, SHASRASRRERATRD RIFEHBHER,
SLENTEEZ TFERT TERNBRKRE;

FES# Parameters

B E IR i

i
Puwer(W) (A)

BMEESD

oON

Easy to install and easy to connect;
Oil supply time is controlled and set by the host computer PLC;

Special alloy steel gear pump with stable output pressure,
low noise and long life;

Low level detection;

It has automatic decompression function, and the use of the
detection volume distributor can give full play to the lubrication
effect.

Asynchronous motor can work continuously and is suitable
for equipment with long working time.

HERR
Oill tank capacity(L)

BKRED i EFRFLE

cc/min c/st

Voltage(V)

Kgf(cm?)

Kgf(cm?)

V0L2202-1000X 220V 35 0.35 15-20 30 4 200-300 30-00#
VL2201-1000X 110V 35 0.35 15-20 30 4 200-300 30-00#
V0L2202-1015X 220V 35 0.35 15-20 30 4 200-300 30-00#

VL2202-1015X 7/ 15KGEAFFR

##2% B Connetion diagram

VL2202-1000X A EDFFXK

= - “{Eﬁ*ﬂ%ﬁ 24V T
TR 24V T RN AT
P ——) & — )
TR IT
# |N F s
IF
N | @ | ]
112(3[4]5 1|2|3|4|5|6 %%P%P5678
[T T T FTTT T [TTTTTTT gwm
K EAW Ko EW R E K BEABRAD D 5
B & I 23 L A L3 & LT KT
=1 R D =3
£57% 2k %
24VIRE(BRIN) BITRAIIR S [E D FF RIS EElEs

www.xingweirh.com

22




ShiHBRSE

Centralized Lubrication System

VG223

=015XB w=mez (=man)

170

—

BT

-1

(14 =
e

FE2# Parameters

B E By Ih R

Puwer(W)

HEES

=AKESD HEER

Qill tank capacity(L)

tHE

cc/min

Voltage(V)

Kgf(cm?)

Kgf(cm?)

VC2232-015XB 220V 18 0.35 15-20 30 1.5 100-150 30-1000
VC2231-015XB 110V 18 0.35 15-20 30 1.5 100-150 30-1000
VC2232-01515XB 220V 18 0.35 15-20 30 1.5 100-150 30-1000

VC2232-01515XB :#15KGENFFX

BRAEIRBA

1. TERTIERRE

BRESETEIH R MNFRE, KROORISEMEET
18, BIRSETHEEHUHIZOVBIZREHEATE, BIET
SETEBENENIE, ROVEIEEBTMEATE(1-999%);

2. [EERA AR E :

T{ERTIE] [EIRESETHRL2F Bk sh E 8 &R A (8 89 Mz
H, HOORIGERE, ETFSETEHANETME, & OVER
EMTE, BIRTFSETRHNEMLY, &K OvRRENE, (1-
999 HH/NET)IRETTEERR, KIRSETEFNIEE TIERT;
3.RSTRAGERLEHE, LERENREIRE;

4 MRIREFRERE, HALUB(T/E)SINT (B8R0 EIRERA

.
RESTEE

o

5.EROINMKRY, RNMEBAEFEMNENFHENBRIRE;
6.ERPIIRREY, RRENRE, FHEHRREETFIERRH
EXRETEREIEBRBAARSBEDTE;

7 BNIRAIREREYN, TN RLIMESETRIZE, &
REE BT EIRE, RSTAIIEEER;

8.FE X iR B (B BR AT (B WTFR IS 1ZT08E, FTFFAINFFRLEE BT
BICIZRTE;

. VC2232-015XB e FEHFF%E
Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7. Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Then you can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;
www.xingweirh.com

23



ShiABRS

Centralized Lubrication System

=-200XB w=mez (mimam)

212

137

175

B E BERRE REINE BMEEND =KED HEER ItHE ERRE

Voltage(V)  Speed(r/min) Puwer(W) Kgf(cm?) Kgf(cm?)  Oilltank capacity(L)  cc/min c/st
VC2232-200XB 220V 2800/50Hz 18 0.35 15-20 30 2 100-150 30-1000
VC2231-200XB 110V 3360/60Hz 18 0.35 15-20 30 2 100-150 30-1000
VC2232-215XB 220V 2800/50Hz 18 0.35 15-20 30 2 100-150 30-1000

BRAEIRBA

1. TERTIERRE

BRESETEIH R MNFRE, KROORISEMEET
18, BIRSETHEEHUHIZOVBIZREHEATE, BIET
SETEBENENIE, ROVEIEEBTMEATE(1-999%);

2. [EERA AR E :

T {ERT BN B e Ee /R iR SE THE L9270 Bk 0 2 (8] BR AT /B A9 ML
H, HOORIGERE, ETFSETEHANETME, & OVER
EMTE, BIRTFSETRHNEMLY, &K OvRRENE, (1-
999 HH/NET)IRETTEERR, KIRSETEFNIEE TIERT;
3.RSTRAGERLEHE, LERENREIRE;

4 MRIREFRERE, HALUB(T/E)SINT (B8R0 EIRERA
;

5.EROINKRET, R RHEAEEERMEIANFTHENBRIRE;
6.ERPIRMKET, B RENRE, THEHRREE TIFIERILH
ELTREGERANYAEFRHNARSEHENTE;

7. BRAIEEREN, TN AL SESETRRHE, =
BB N\BTEIRE, RSTHIIEEEFE;

8.FERNHR NIR B BIERET (B MTER IS 1208, FTFF/INFFR LB A BT
BICIZIRE;

www.xingweirh.com

. VC2232-215XB #515KGEHFF*
Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7. Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Then you can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;

24




ShiHBRSE

Centralized Lubrication System

VG223

=400XB wnizem (=)

270

278

232

FE2# Parameters

B E
Voltage(V)

B IR
Puwer(W)

MEESD ®&KESD

Kgf(cm?)

HESR
Qill tank capacity(L)

TS

Kgf(cm?) cc/min

VC2232-400XB 220V 18 0.35 15-20 30 4 100-150 30-1000
VC2231-400XB 110V 18 0.35 15-20 30 4 100-150 30-1000
VC2232-415XB 220V 18 0.35 15-20 30 4 100-150 30-1000

VC2232-415XB s 15KGEHFFX

BRAEIRBA

1. TERTIERRE

BRESETEIH R MNFRE, KROORISEMEET
18, BIRSETHEEHUHIZOVBIZREHEATE, BIET
SETEBENENIE, ROVEIEEBTMEATE(1-999%);

2. [EERA AR E :

T{ERTEiR B B FSE TH L9270 Bk ah 2 (8 8RBT 18 89 Mz
H, HOORIGERE, ETFSETEHANETME, & OVER
EMTE, BIRTFSETRHNEMLY, &K OvRRENE, (1-
999 HH/NET)IRETTEERR, KIRSETEFNIEE TIERT;
3.RSTRAGERLEHE, LERENREIRE;

4 MRIREFRERE, HALUB(T/E)SINT (B8R0 EIRERA
;

5.EROINKRET, R RHEAEEERMEIANFTHENBRIRE;
6.ERPIRMKET, B RENRE, THEHRREE TIFIERILH
ELTREGERANYAEFRHNARSEHENTE;

7. BRAIEEREN, TN AL SESETRRHE, =
BB N\BTEIRE, RSTHIIEEEFE;

8.FERNHR NIR B BIERET (B MTER IS 1208, FTFF/INFFR LB A BT
BICIZIRE;

VC2232-400XB : R EHFF =
Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7.Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Thenyou can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;
www.xingweirh.com




ShiABRS

Centralized Lubrication System

=1000XB @z (=imai)

460 220
430
2 = s ¥
) TSl ?
T
me 2
- jan '-\,'.\_ 9
S 0

115

FE 2% Parameters

B E HHInE=E BEEN =AED HEETR It ERE

Voltage(V)  Puwer(W) Kgf(cm?) Kgf(cm?)  Oill tank capacity(L) cc/min c/st
VC2232-1000XB 220V 18 0.35 15-20 30 10 100-150 30-1000
VC2231-1000XB 110V 18 0.35 15-20 30 10 100-150 30-1000
VC2232-1015XB 220V 18 0.35 15-20 30 10 100-150 30-1000

VC2232-1015XB :w# 15KGEHDF X

BRI A

1. TIERSENRRE :

BRZSETRUMFRANKNTFRE, ROOEIRENMIEA
8, BEZSETHEEIHEIROsIZE AT E, BT
SETRBLMBEME, ROVRIREBMEAE(1-999%);

2. [B)ERATE)IR E :

T1ERT 1R E SR /A iR AES E THRL92FD B ah 2 [8) 81 A (8] A9 Mz
%, ROORIRERE, HTSETHRHENRTAIE, &R OORIR
ERfE), BIRTSETRHENBMEY, &R OVRRENE, (1-
Q99D tH/NE IR ETS G, KESETRHEANLERE TIERT;
3.RSTRALEFRNIENE, BAERENSERE,

4 HRREIFREE, HALUB(IE)SINT (880 E IR iEiEIX
o

5.EROINMKRY, RNMEBAEFEMNENFHENBRIRE;
6.ERPIIRREY, RRENRE, FHEHRREETFIERRH
EXRETEREIEBRBAARSBEDTE;

7 BRIRAIREERES, FTH/NFRLATSUESETRIZE, &~
REE BT EIRE, RSTAIIEEER;

8.FE X iR B (B BR AT (B WTFR IS 1ZT08E, FTFFAINFFRLEE BT
BICIZRTE;

www.xingweirh.com

VC2232-100XB: A EIFFR

Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7. Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Then you can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;

26




ShiHBRSE

Centralized Lubrication System

VL223

=200XB wnizam (mpmi)

212

137

175

FESE Parameters

B E i Ih = BEED SKESD HEER ItHE EFEREE

Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?)  Oilltank capacity(L)  cc/min c/st
VL2232-200XB 220V 35 0.35 15-20 40 2 200-300 30-00#
VL2231-200XB 110V 35 0.35 15-20 40 2 200-300 30-00#
VL2232-215XB 220V 35 0.35 15-20 40 2 200-300 30-00#

HBSER 135086/ FomAR28008 A
BRAEIRBA

1. TERTIERRE
BRESETEIH R MNFRE, KROORISEMEET
18, BIRSETHEEHUHIZOVBIZREHEATE, BIET
SETEBENENIE, ROVEIEEBTMEATE(1-999%);

2. [EERA AR E :

T{ERTEiR B B FSE TH L9270 Bk ah 2 (8 8RBT 18 89 Mz
H, HOORIGERE, ETFSETEHANETME, & OVER
EMTE, BIRTFSETRHNEMLY, &K OvRRENE, (1-
999 HH/NET)IRETTEERR, KIRSETEFNIEE TIERT;
3.RSTRAGERLEHE, LERENREIRE;

4 MRIREFRERE, HALUB(T/E)SINT (B8R0 EIRERA
;

5.EROINKRET, R RHEAEEERMEIANFTHENBRIRE;
6.ERPIRMKET, B RENRE, THEHRREE TIFIERILH
ELTREGERANYAEFRHNARSEHENTE;

7. BRAIEEREN, TN AL SESETRRHE, =
BB N\BTEIRE, RSTHIIEEEFE;

8.FERNHR NIR B BIERET (B MTER IS 1208, FTFF/INFFR LB A BT
BICIZIRE;

VL2232-215XB :#H15KGENDFFX

VL2232-200XB A& EHFFX
Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7.Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Thenyou can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;
www.xingweirh.com




ShiABRS

Centralized Lubrication System

=400XB winizam (simi)

270

278

232

FE 2 Parameters

B E BHIp=R

Puwer(W)

Voltage(V)

BEES
Kgf(cm?)

BAED HEBRR
Kgf(cm?) Oill tank capacity(L)

ItHE

cc/min

VL2232-400XB 220V 35 0.35 15-20 40 4 200-300 30-00#
VL2231-400XB 110V 35 0.35 15-20 40 4 200-300 30-00#
V0L2232-415XB 220V 35 0.35 15-20 40 4 200-300 30-00#

VL2232-415XB :#515KGENFFX

BRAEIRBA

1. TERTIERRE

BRESETEIH R MNFRE, KROORISEMEET
18, BIRSETHEEHUHIZOVBIZREHEATE, BIET
SETEBENENIE, ROVEIEEBTMEATE(1-999%);

2. [EERA AR E :

T{ERTEiR B B FSE TH L9270 Bk ah 2 (8 8RBT 18 89 Mz
H, HOORIGERE, ETFSETEHANETME, & OVER
EMTE, BIRTFSETRHNEMLY, &K OvRRENE, (1-
999 HH/NET)IRETTEERR, KIRSETEFNIEE TIERT;
3.RSTRAGERLEHE, LERENREIRE;

4 MRIREFRERE, HALUB(T/E)SINT (B8R0 EIRERA
;

5.EROINKRET, R RHEAEEERMEIANFTHENBRIRE;
6.ERPIRMKET, B RENRE, THEHRREE TIFIERILH
ELTREGERANYAEFRHNARSEHENTE;

7. BRAIEEREN, TN AL SESETRRHE, =
BB N\BTEIRE, RSTHIIEEEFE;

8.FERNHR NIR B BIERET (B MTER IS 1208, FTFF/INFFR LB A BT
BICIZIRE;

www.xingweirh.com

VL2232-400XB : A EAFX

Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7.Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Thenyou can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;




ShiHBRSE

Centralized Lubrication System

VL223

=1000XB =935 (s5am)

460 220
430
-, = s ¥
) TSl ?
T
ine 2
- jan '-\,'.\_ 9
= 0

115

FESH Parameters

B E B Ih=

Puwer(W)

Voltage(V)

BEEN
Kgf(cm?)

RAED
Kgf(cm?)

s

cc/min

HESR
Qill tank capacity(L)

V0L2232-1000XB 220V 35 0.35 15-20 40 10 200-300 30-00#
V0L2231-1000XB 110V 35 0.35 15-20 40 10 200-300 30-00#
V0L2232-1015XB 220V 35 0.35 15-20 40 10 200-300 30-00#

VL2232-1015XB :#15KGEAFX  VL2232-1000XB AHELDFFX

BRI A

1. TIERSENRRE :

BRZSETRUMFRANKNTFRE, ROOEIRENMIEA
8, BEZSETHEEIHEIROsIZE AT E, BT
SETRBLMBEME, ROVRIREBMEAE(1-999%);

2. [B)ERATE)IR E :

T1ERT 1R E SR /A iR AES E THRL92FD B ah 2 [8) 81 A (8] A9 Mz
%, ROORIRERE, HTSETHRHENRTAIE, &R OORIR
ERfE), BIRTSETRHENBMEY, &R OVRRENE, (1-
Q99D tH/NE IR ETS G, KESETRHEANLERE TIERT;
3.RSTRALEFRNIENE, BAERENSERE,

4 HRREIFREE, HALUB(IE)SINT (880 E IR iEiEIX
o

5.EROINMKRY, RNMEBAEFEMNENFHENBRIRE;
6.ERPIIRREY, RRENRE, FHEHRREETFIERRH
EXRETEREIEBRBAARSBEDTE;

7 BRIRAIREERES, FTH/NFRLATSUESETRIZE, &~
REE BT EIRE, RSTAIIEEER;

8.FE X iR B (B BR AT (B WTFR IS 1ZT08E, FTFFAINFFRLEE BT
BICIZRTE;

Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7. Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Then you can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;
www.xingweirh.com

29




vawe

ShiABRS

Centralized Lubrication System

=-400XB =:z52=

VG523

FES# Parameters

B E WEINE BR WMEEHN mKESD HESRR ItHE

Voltage(V) Puwer(W) (A Kgf(cm?) Kgf(cm?)  Oill tank capacity(L) cc/min
V(G5232-400XB 220V 60 0.35 15-20 60 4 300-500 30-004#
VG5233-400XB 380V 90 0.35 15-20 60 4 300-500 30-00#
VG5232-410XB 220V 60 0.35 15-20 60 4 300-500 30-004#

BRAEIRBA

1. TERTIERRE

BRESETEIH R MNFRE, KROORISEMEET
18, BIRSETHEEHUHIZOVBIZREHEATE, BIET
SETEBENENIE, ROVEIEEBTMEATE(1-999%);

2. [EERA AR E :

T{ERTEiR B B FSE TH L9270 Bk ah 2 (8 8RBT 18 89 Mz
H, HOORIGERE, ETFSETEHANETME, & OVER
EMTE, BIRTFSETRHNEMLY, &K OvRRENE, (1-
999 HH/NET)IRETTEERR, KIRSETEFNIEE TIERT;
3.RSTRAGERLEHE, LERENREIRE;

4 MRIREFRERE, HALUB(T/E)SINT (B8R0 EIRERA
;

5.EROINKRET, R RHEAEEERMEIANFTHENBRIRE;
6.ERPIRMKET, B RENRE, THEHRREE TIFIERILH
ELTREGERANYAEFRHNARSEHENTE;

7. BRAIEEREN, TN AL SESETRRHE, =
BB N\BTEIRE, RSTHIIEEEFE;

8.FERNHR NIR B BIERET (B MTER IS 1208, FTFF/INFFR LB A BT
BICIZIRE;

www.xingweirh.com

. *VG5232-415XBEsEFF%
Instructions For

1. Working Time Setting:

Please long press SET button, and release the SET button when the
number jumps. Press®®button to set single digit time, then press SET
to jump to ten digits. Press®® button to set ten digit time. Press SET
again to jump through the hundreds digit, then press @@ button to set
the hundreds digit time. (1-999 seconds);

2. Intermittent Time Setting:

After setting the working time, hold down the SET button for about 2
seconds to jump to the single digit of the intermittent time, press the @@
button to set the time. Press the SET button to enter the ten digits, then
press the @@ button to set time. Press the SET button to enter the
hundreds digit, press the ®® button to set the time. (1-999 minutes /
hour) After setting, long press the SET button to enter the normal
working state;

3. The RST button is a pause button or a restart button, which can also
elimi;

4. After the time of oil pump has been set, it will enter the LUB and INT
cycle conversion state;

5. When ERO flashes, it means that the amount of oil is insufficient and
new oil needs to be refilled to automatically eliminate the alarm;

6. When the ERP flashes, it indicates that the pressure is abnormal. It is
necessary to check whether the oil pump is working properly or whether
the main pipe of the oil pipe is cracked or oil leakage causes insufficient
pressure;

7.Thereis alock button in the computer board. Open the small switchda
,you can lock the SET button. Thenyou can’ tenter the time setting but
RST can be used normally;

8. There is intermittent power—off memory function in the computer
board. When open the small switchda, it will enter the power—off

memory state;

30




ShiHBRSE

Centralized Lubrication System

VG520

400X wsizemmssn)

275

235

165

|E§Eﬂ:\[]1§,.'5\ Performance & Characteristics

o RETE, HLBB,

ALIHAS [E) B EA LB RPLCE R 518 E;

c RABKAEENERER, BRRLENRE, BE/), FoK;

BEBERMUFBONINEE;

FESH Parameters

EEEmEEDRE, SHATSRASRRERTRS RIERBHE;
SLHRNTEEXTFERT TERERKNIRE;

Easy to install and easy to connect;
Oil supply time is controlled and set by the host computer PLC;

Special alloy steel gear pump with stable output pressure,
low noise and long life;

Low level detection;

It has automatic decompression function, and the use of the
detection volume distributor can give full play to the lubrication
effect.

Asynchronous motor can work continuously and is suitable
for equipment with long working time.

B E IO ER MEED =KED HEER ItH= AR E
Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?)  Oill tank capacity(L) cc/min c/st
VG5202-400X 220V 60 0.35 15-20 60 4 300-500 30-00#
VG5203-400X 380V 90 0.35 15-20 60 4 300-500 30-004#
VG5202-410X 220V 60 0.35 15-20 60 4 300-500 30-00#
* VG5202-415X:TENFF*R
##2% B Connetion diagram
S Eﬂ*ﬂﬁﬁﬁ 24V AT
TR —24 ViR )T eI
———— & —
84T
1 |IN s N
] [ 4 || ]
K I
112(3|4|5 112(3[4|5/|6 9‘%‘1‘2‘3‘4‘5‘6‘7‘8‘
[T TT] FTTTT [TTTTTTT gw
K FEA W K FW B IE KEEARD ED 5
243 £k 3 7)) AL AL A kg Lk LA AT 1 AT
XM U3 V-
£57% 2 2
24VIRE(EKIA) BT AIIR I E D FFRIRZ EEliEs

www.xingweirh.com

31




ShiABRS

Centralized Lubrication System

=200X wmizemmsan)

210
130
170
&
T
e
(K 8 .
vy N
8.5 —

15

300

|fI§Eﬂ:\[]?ﬁ,.'5\ Performance & Characteristics

LIRTIE, REEE,

ALIHAS [E) B EA LB RPLCE R 518 E;

RABKREGESNERE, BEEREENRE, BE/), FHK
BEBERMUFBONINEE;

EEEmBEDRE, SHANSRASRRERTRS RERBHE;
SLHRNTEEXTFERT TERERKNIRE;

FESH Parameters

Easy to install and easy to connect;
Oil supply time is controlled and set by the host computer PLC;

Special alloy steel gear pump with stable output pressure,
low noise and long life;

Low level detection;

It has automatic decompression function, and the use of the
detection volume distributor can give full play to the lubrication
effect.

Asynchronous motor can work continuously and is suitable
for equipment with long working time.

B E HHINER MEEND wmKED HAEER It
Voltage(V) Puwer(W) Kgf(cm?) Kgf(cm?) Oill tank capacity(L) cc/min
VG5202-200X 220V 60 0.35 15-20 60 2 300-500 30-00#
VG5203-200X 380V 90 0.35 15-20 60 2 300-500 30-00#
VG5202-210X 220V 60 0.35 15-20 60 2 300-500 30-00#
o ) ) * VG5202-215XTEHF*E
##2% B Connetion diagram
S Eﬁ*ﬂEﬁﬁ 24VH AT
TR 24 ViR AT e AT
& — )
TR IT
# ([N F s
I o
N | 2 | |
112]3]a 112|3|4|5|6 %‘ﬂﬂﬂq#ﬂﬁs
[T T FTTTT TTTTTTTT 5w
K EA Ko EW W E KB AW JE D Jy b
2 7)) 4 3t o N VA A &8 g AL AT
XM R D =3
24VIRZE(BKIN) BITRAIIR S [E D FF RIS EEXiEL

www.xingweirh.com

32



ShiHBRSE

Centralized Lubrication System

-|-
EYW ﬁ:g%& EYW Sprayer

',-v\'

etk A5 i8]

Liquid adjustment valve

EHmAD

Liquid input

SEHAD

Gas input

46
38 SEATA
Gas adjustment valve
o 3-04.5

FRAEHCFE Standard length(240)

JEEZEIN Attentions

FERBEZRIE;
BERBIRMEZ R,

° SERSEBE0.5-0.7MPa (
o EFAWRIAREE: 0-68cSt;

EUHRESE, SEEXHK) ;

® Use clean liquid.
© Do nor use corrosicve liquids.
® The pressure range of the pressure source is 0.5-0.7mpa.
(the atomizing effect is related to air volume and air pressure)

© Applicable to liquid viscosity :0-68cst.

EYWHEHE MIRXLE SR Testing results of EYW oil consumption

25.5
EYW-1 EYW-2
EYW- | - | [ [ - ]
B gL I
gg'l[:(e;iofeumversal SRR\ LKA
liquid input port joint type
1 ﬁE Metal T SEEEL
R ] Pneumatic straight joint
2 | BH Plastic e
Copper quick straight joint
REE R
Standard pipe length SR 3L R
240 | 240mm Gas input port jpont type
SthE#X
BLfts i< A 2 ) T | as direct joint
er lengths can be — ~
oo s |PREEEL
Copper quick straight joint
BREBMAER
Liquid input pipe diameter 1E%(
4 D4 Check calve
S | B
6 D6 With check calve
Z=H | ALK
SERNER Blank | Without check calve
=
Gas input caliber ENES
4 ®4 Atomizing types
A | REN, TRAAEH
6 D6 Bing Atomzing types
HEEN, BRAAET
8 8 B |Micro Atomizing,no limit
transfer needle

iR ES mEBE
Liquid category Flow range (cc/min )
SHRES
K, N
Water , alcohol 0=30 Gas pressure
105 = RN (0.5MPa)
No.10 hight -speed 0~25
main shaft oil

|fI‘E|“ETﬁI]ﬁ§ Performance & Characteristics

RN AETEWRRE, FRAZHARENTSSREASEN,
B ZEINT M, TJESHMASEER. RMERE, FRAEE;
fRfE; EEEEE, URAEFHERINIRRE, MR
2.

This product applies the principle of vacuum self-respiration to atomize the
liquid through the nozzle and air and spray it to the lubrication point such as
workpiece, tool or bearing. Good cooling effect, and provide lubrication, chip
removal, cleaning and other functions to improve production efficiency and

machining quality, reduce the loss of mechanical tools.

{fﬁﬁiﬁé Precautions

ERR, R, SR, BR, K, JJEHEN, CNCHUR,
R, R, ARIH, ERE.

Lathes, drilling machines, milling machines, grinders machines,
tapping machines, tool grinders machines, CNC machine tools,

punch, saw, woodworking machinery,feeder, etc.

EYW- éé;ﬁzrk 51 S= EE Economical sprayer

www.xingweirh.com

33




vawe

VYW-ATHEFEBR

Oil mist lubrication pump

ShiABRS

Centralized Lubrication System

_BE2202 PUMP UNIT

165

www.xingweirh.com

VYW- A DD-DDQ

S RALFFX
Control types Liquid level switch
B
A pLC L Uple:rk)‘?ersuwly
2 TIEE
B Digiijll(?splay 2 Upper power supply
c | FEHles 3 | EBLFFX
No controller Liquid level switch
unavailable
I E RN _
Number sprayer EEEKE
Piping length
1 1 Each
2 2M
2 | 2/ Each
I“Eac 3 M
3 3/ Each
4 4M
4 4/ Each
5 5M
HEER BNEBE
Oil tank Volume Input voltages
Singl
1] 150 1| smimr1ov S
Singl
2| 2 2 | imo20v Sinel
3 4L 3 | DC12v
4 | DC24V

”Eﬁgﬂ:\[]ﬁ,.‘?_\ Performance & Characteristics

RERBFAERIBEE, NSEHTEREZR, SEBRTIREEN,
BT B 205, REEBMREE.
AFEES. QAR EMEEIYIEE,

(REEHRINEE, THEREFNDBMENNE ) RENEBTZE,
"LUB"EBATE: 1-999 (#) ,"INT"E&RATE: 1-999(5 #//\ad)
B.PLCH#z#l: 2#0iEi8rS BF088NET B R IMBPLCIES! .

C.R#EBI BN B LHFIRE

REREFX. ZRADBRACTHEBERLIRESGSHEREESHE
(HERUAFENERERO)

ERIERT B 2R HiE B R HR S

REZWERSIRES0.4~0.6Mpa

HINSHMBAEER I6mMm

EAEYWBERR SNEBREREER
Performance and characteristics:

The system is equipped with pressure regulating valve and solenoid valve,
which can precisely control the air source and atomize with the lubricating fluid
to reduce the loss of the mechanical cutting tools and achieve better cooling and
lubrication effect.

A. Digital display control: both cooling and lubrication time and intermittent can
be adjusted.System time can be set," LUB" lubrication time: 1-999(seconds),

"INT" interval time: 1-999(min/h)

B.lc control: cooling and lubrication time and interval time are controlled by
external PLC.

C. No setting is required for cooling and lubrication time and interval time
Equipped with hydraulic switch, when the cooling lubricant is insufficient, the
buzzer will send an alarm signal and output the abnormal signal (ERO will be
displayed when the liquid level is insufficient for digital display).
Panelindicator lights indicate lubrication and intermittent conditions
The system is recommended to use an air source pressure of 0.4~ 0.6mpa

The default gas and liquid tube diameter is 6mmUse with EYW self - priming
cooling lubrication atomizer

34




ShiHBRSE

Centralized Lubrication System

vawe

VYW-BHZHBR

Oil mist lubrication pump

| 165

VYW-B DD-DDQ

S RALFFX
Control types Liquid level switch
T
A PLC 1 Upperl[%\?ér supply
2 TIEE
B Digitﬁﬁplay 2 Upper power supply
c | FEdl=s 3 | FBRUFX
No controller Liquid level switch
unavailable
LR _
Number sprayer m%klﬁ
Piping length
1 1 Each
2 2M
2 | 2/ Each
I“Eac 3 M
3 3/ Each
4 4M
4 4/ Each
5 5M
HEER BNEBE
Oil tank Volume Input voltages
Singl
1] 150 1| smimr1ov S
Singl
2| 2 2 | imo20v Sinel
3 4L 3 | DC12v
4 | DC24V

”Eﬁ'éﬂ:\[]ﬁ,?_\ Performance & Characteristics

RERBFAERIBEE, NSEHTEREZR, SEBRTIREEN,
BT B Z R, REBRRERE.
ABEEE: QI EMEEIYREE,

(REEHRINEE, THEREFNDBMENNE ) RENEBTZE,
"LUB"EBATE: 1-999 (#) ,"INT"E&RATE: 1-999(5 #//\ad)
B.PLCH#z#l: 2#0iEi8rS BF088NET B R IMBPLCIES! .

C.R#EBI BN B LHFIRE
REBREFX. BRAEBRIENEBELRLREESHEREESHE

(HERUAFENERERO)

ERIERT B 2R HiE B R HR S
REZWERSIRES0.4~0.6Mpa
HINSHMBAEER I6mMm
EAEYWBERR SNEBREREER
Performance and characteristics:

The system is equipped with pressure regulating valve and solenoid valve,
which can precisely control the air source and atomize with the lubricating fluid
to reduce the loss of the mechanical cutting tools and achieve better cooling and
lubrication effect.

A. Digital display control: both cooling and lubrication time and intermittent can
be adjusted.System time can be set," LUB" lubrication time: 1-999(seconds),

"INT" interval time: 1-999(min/h)

B.lc control: cooling and lubrication time and interval time are controlled by
external PLC.

C. No setting is required for cooling and lubrication time and interval time
Equipped with hydraulic switch, when the cooling lubricant is insufficient, the
buzzer will send an alarm signal and output the abnormal signal (ERO will be
displayed when the liquid level is insufficient for digital display).
Panelindicator lights indicate lubrication and intermittent conditions
The system is recommended to use an air source pressure of 0.4~ 0.6mpa

The default gas and liquid tube diameter is 6mmUse with EYW self - priming
cooling lubrication atomizer

www.xingweirh.com

35




vawe s ARG
Centralized Lubrication System

A-8 =i=zm)

Manual Lubricator . | . .
J Instal Lation Siz i
kzgﬁ_j stal Lation Size ||'$I3Eﬂ:\[]1%,.'5\ Performance & Characteristics

o EEXEE, BTHBRRE.

o FENRME, FHFRATHER, FREMAER.
o WA HIH A B EEE—HH.

o EeERAEmR, A ENSM.

T .0
Fe ==

* Fox manual operation,pull handle discharge,handle reset reservoir.

e Fox plunger type structure,used for thin oil luercation.
® Two oil outlet can at the same time or optional a outlet.

® Fox is equipped with resin oil mark,can be easily observed oil level.

150

LR Instal Lation Size

170
200

FESH Parameters

B S HHE SAMEHED HEER IO it O TERY

Model cc/min Kgf(cm?) Oill Tank Capacity(mL)  Spit out the Caliber Number of Exhales Installation Size

A-8 8 15 800 ¢4/ 66 2 100X110 wm=x
A-8X 8 15 800 $4/46 2 100X110 EETL

ASG =mmpsmes)

Manual Grease Lubrication Pump

||'$§Eﬂ:\[]ﬁ,.5.\ Performance & Characteristics

° FERAT S IhAE.

o HEREE, BTmERS.

o FoiRME, RIMFMATMEE, HEHFREEH.
o TEEINRE, AT RANHEEBRSR.

e Transparent resin tank.

o Plunger structure for grease lubrication.

e Manual operation, when pulling out the handle to store oil, push the
handle to drain oil.

ASG-(03/05/08) * No unloading function, used in resistant grease lubrication system.

tHE SARHHEED HERR it O it O

cc/min MPa Oill Tank Capacity(mL) Spit out the Caliber Number of Exhales
ASG-03 2 10 300 M10X1 1 HHUEI E
ASG-05 2 10 500 M10X1 1 HHUEI E
ASG-08 2 10 800 M10X1 1 HHUEI E

www.xingweirh.com

36



vawe sERARS
Centralized Lubrication System

ASP-8 =%

Pull Type Lubricator o
ZEER T Instal Lation Size

3-06.8

195-235
136

3
2 —
o FEXEH, BFHHESE, ® Fox plunger type structure,used for thin oil luercation.
£ T N
'lﬁfﬁg*nﬁ,‘ﬁ ° ?ﬂf?&ﬂzy Eava ==y | ’ ® Fox manual operation,Store oil when pressing down handle and
Performance & Characteristics FiRE R HER drain oil when releasing handle.
/Mo

EE%,‘Q;I;& F)a rameters o BRE RS AR , a5 {EWEHAL. ® Fox is equipped with resin oil mark,can be easily observed oil level.
=2

s e AL HED AR O i A%
Model cc/min Kgf(cm?) Oill Tank Capacity(L) Spit out the Caliber Number of Exhales
ASP-8R 8 3.5 0.6 M8X1 @ @ T™ge =
ASP-8L 8 3.5 0.6 M8X1 @ E@T™ge il
AP-5 =gz
Hand Pressing Lubricator LHEERT Instal Lation Size
88-100 5900

8" el

=1 [ (
I

(170}
(170

116

T
|

1

1

i

|

1

i

|

1

1
s

— 39
{53)

|

|

i

|

|

|

|

I

|

|

H

kil {115 il
(191] i {181} i
Ti_tﬁg*w%ﬁ s FEAXEW, BTFHHESR. * Fox plunger type structure,used for thin oil luercation.
Performance & Characteristics o FHRME, ETFFEATHEH, * Fox manual operation,Store oil when pressing down
TR HER . handle and drain oil when releasing handle.

FES# Parameters
B 5 tHE SJAMHHED HEARR ItHOR 1 I 574 = £ iF

Model cc/min Kgf(cm?) Oill Tank Capacity(L) Spit out the Caliber Number of Exhales Form Remarks
AP-5L 5 5 0.6 M8X1 1 i EFE
AP-5M 5 5 0.6 M8X1 1 i FEE
AP-5R 5 5 0.6 M8X1 1 iR T GBFE

www.xingweirh.com

38



ShiHBRSE

Centralized Lubrication System

BMA }%éﬂg?ﬁ BMA cycloidal pump

+E2# Parameters

(12)
e

L]

BignttE it & Ei/min BAEN =1t Bt 8247
Theoretical discharge 1500rpm 1800rpm Kgf(cm?) Maximum speed G g
BMA-10A 0.8 1.2 1.4 5.0 3000 PT1/8 0.55
BMA-11A 1.5 2.2 2.7 5.0 2000 PT1/8,1/4 0.55
BMA-12A 2.5 3.7 4.5 5.0 1800 PT1/4 0.60
BMA-13A 4.5 6.7 7.5 5.0 1800 PT1/4,3/8 0.80
Jaun) > )
BMB *Eg%?i BMB cycloidal pump
2-PT1/4
D 3 —-m‘ ©
° AT r S
I3
185
(64) _ | 38

FE2% Parameters

Bigntts it & B /min RBAEN B EIR
Theoretical discharge 1500rpm 1800rpm Kgf(cm?) Maximum speed (K
BMB-1FS 1.16 1.74 2.08 5.0 2000 PT1/4 1.0
BMB-2FS 1.8 2.7 3.24 5.0 2000 PT1/4 11
BMB-3FS 2.5 3.75 4.5 5.0 2000 PT1/4 1.2
N,
M-BMA 3AZR  Motor pump
45 73
M @ $7.5

FE2% Parameters

185

130

99

70

&

79 60

RS

BB E:=1H380V/50HZ

280

#3%: 1460Rpm

B S BB RER

Model Electric motor cycloidal pump
M-BMA-10A =18380V,50Hz,1/4H BMA-10A
M-BMA-11A =1H380V,50Hz,1/4H BMA-11A
M-BMA-12A =18380V,50Hz,1/4H BMA-12A
M-BMA-13A =1H380V,50Hz,1/4H BMA-13A
M-BMB-1FS =18380V,50Hz,1/4H BMB-1FS
M-BMB-2FS =1H380V,50Hz,1/4H BMB-2FS
M-BMB-3FS =18380V,50Hz,1/4H BMB-3FS

www.xingweirh.com

37



kb vawe
Centralized Lubrication System

g*ﬂﬁﬁ%ﬁﬁaﬁ Volumetric quantitative distributor

£ 8 0u g g2 VAE-| |- |
| [
, ' — IR o
! Quantily of FENMHHOS
olioutlets oil volume of 5th oil outet
02 | 2 positi FOMHMOE
24 position oil volume of 4th oil outet
03 | 343 position FE=MHHAOSE
oil volume of 3th oil outet
04 | 443 position S AHHOR
05 {_‘_ oil volume of 2th oil outet
S4AL position N
P E— MO E

oil volume of 1th oil outet

RS O i

specifications Outlet quantity Throughput

VAE-02 2 69 39

VAE-03 3 86 54 0.1/0.2/
0.3/0.4/

VAE-04 4 102 69 0.5

VAE-05 5 116.5 84

i MEFRRAN: (EHAEEHDHEE—H#EN, IR—NMH2EFRR)
b P MBS
3

Bl1: VAE-05-2F/RVAERLAMIEL, 2, 3. 4, SHIAOHELEH0.2mLER
f2: VAE-05-53235%/RVAERL RG], 2, 3. 4. SEHOHESBI0.5.

1 ! ! ! ' 0.3, 0.2, 0.3, 0.5mL&R
! el L e .

B The amount of oil:
- (When all outlets have the same oil quantity, only oneoil quantity is used)

248

Example 1: VAE—-05-2 indicated that the quantity of oil at the first, second,
E third, fourth and fifth positions was all 0.2mL each time

Example 2: VAE-05-53235 indicated that the output of the first, second,
third, fourth and fifth viva was 0.5, 0.3, 0.2, 0.3 and 0.5mL each time, respectively

VAEﬂﬁEE%EI{’HﬁEEWorking principle of VAE type distributor

(

SN
SN

1os YY)
KKK

N/
W)

s e ]

© (1) ki

©(2) EEMEITEF
®(3) itE5%E4

©(4) imptH

©(5) HrtHzEE

© A, ITEFEENETE
©® B. EEWEENIETE

Y=

STNSSTUSSUNTURUTRIRCS

\\\\\\(\

7

AN 1L TLLNNNNN
SNANY

ST

7%

. AN\

T

Sl TERIEE

REE, WEBREZERN®H, REEAEN, FHEENEEBE LEFREN, BETERCEEXEFEZFN, ZENHIEATHERTER TS
fE, BEGHEREE, NMHITITEEM,

HEBEANMERZEN (MHE) , ¢E@BEENEMETHE, BNFBMHEOE, FRIFEEZNITEEMEDMH OESHNHEHTAS b
ERERR, FESHISITEEMARY, MEmEERRRgGEE, AMA#IASESRIETRER.

www.xingweirh.com
39




vawe okt
Centralized Lubrication System
7J|]E ﬁﬁﬁaﬁwessurized distributor

RIE %Y Model selection

VAG- |- |

HIROE
Quantily of
oli outlets SEARAHHOSE
02 | 241 position oil volume of 5th oil outet
— B YEOR
03 | 3fi position oil volume of 4th oil outet
TR F=ANHBOS
04 | M position oil volume of 3th oil outet
05 | 513 position s MEOS
oil volume of 2th oil outet
06 | 6fi position BoAHO R

oil volume of 1th oil outet

FE2# Parameters

L O A i BHE
specifications Outlet quantity Throughput
VAG-02 2 47.5
VAG-03 3 64.5 17
0.1/0.2/
VAG-04 4 81.5 33
0.3/0.4/
0.5
VAG-05 5 98.5 51
VAG-06 6 115 68

MEBEFNYEF S Performance & Characteristics

N

ELRAE S B As 27 RIRIERIE A EH AR/, REEHDLMERE15kglA_£75 5T INERHEINHE,
ZEFIEATFT0004#E1#88 MAIHL I

Pressurized grease distributor is used to control the size of oil output by the resistance of the screw, and the pressure of the system must be more

than 15kg Can be pressurized oil drainage and refueling, the system is suitable for 000# to 1# lubricating oil machinery;

www.xingweirh.com

40



ShiHBRSE

Centralized Lubrication System

%i&ﬁﬁ ﬁﬁﬁaﬁ Butter lubricating system

VES -

L= IL L

TER#E HimAER
Number of work Outlet pipe diameter
03 3 position 4 Eos
C ted to @4 pi
04 4 position onnectedto pipe
05 5 position 6 }§®6%
Connected to ®6 pipe
E: TERYETEM3-10R My
Note: The muber of working Nif E“% .
pieces can be customized Enter pipe diameter
6 | EOE
Connected to ®6 pipe
EHRIFRT g |EosE
Cycle switch mode Connected to ®8 pipe
=H| AmiETE
Blank | without indicator stick A
Oil delivery method
BB ERE
A with mechanical cycle indicator s iﬁ;m Single oil
3 i IHEERDIF SR Performance & Characteristics
B HRFNERFXIERR T | Wil Double oil m
with electroniccycle switch indicator < . — =
- . o RBEH[XNHITHEEB/;A S RS
BATIERME
Second working piece of oil - e
¢ | HHBFXRERTXIETR o IEH BRI/ RAMIE N
with micro switch type cycle indicator 10 0.1ccley
e BN HAOMKRREFESHHEAONKRE, RE—)
F—ATIERE . 14| 0.14ccley HHOBERFFED EMIALSK,
Second working piece of oil
10 | 0.lcc/ey
18| 0.18cc/ecy
® One-pipe for quantified cycle distribution
14| 0.l4ccl/cy
o Ejection capacity is changed based on specificationsThe quantity of links
24| 0.24cc/cy
increased or decreased based quick ejection capacity
18| 0.18cc/cy I
30| 0.3cc/ey o Status of each ejection orifices represents status of all ejection capacity Incase
of any problems incurring, the problem can be determined quickly.
24| 0.24ccley
30| 0.3ccley
S BAEREN B et ; B HOK BSHOMN
speci:cn(inns Maximum Application pressure Applicable Butter 4R (cc) Ejection Capacity Minimum Quantity Of Ejection MaximumQuantity Of Ejection
VES 35 61.5 76 19 75.44
B8 R~ Theoretical size:
BISHIE
specifications A B c D E F
VES-2/3/4/5/6(s) 35 61.5 76 19 19 8.5
VES-7/8(s) 35 61.5 95 19 19 8.5
VES-9/10(s) 35 61.5 114 19 19 8.5
VES-11/12(s) 35 61.5 133 19 19 8.5
VES-13/14(s) 35 61.5 152 19 19 8.5
VES-15/16(s) 35 61.5 171 19 19 8.5

www.xingweirh.com

41




vawe

ShiABRS

Centralized Lubrication System

2{FXB:# S Hd2R Integral progressive distributor

VEGEE {§38i# 3 53 B 88 S i

Overall progressive distributor shape

VEG -

% i dft W i

30

L L
EEEROTS SR Performance & Characteristics
o — o VEGEHARBHAHRBEL— M/ ZEBTMIRHBRARW
Number of oil outlets HIHOE R Outlet pipe diameter N . N N - _.
2 12 eSS, HiRitkl, SHAE, HTRINBFENITEHE
4 | 048 Connccted to ©4 pipe 2MHEBEEGTNE, WTUERTSE. BEEZBHHNIIRG
6 |6 a8, BNETNBEFRENREDBERS.
3 | g B = o Connccted o 06 oi VEGEAFREH#HXHERETEAEHI . THHENELESE
& Connected to pipe . - = s = N
=, TUSESRENBER. S5, RHSEEHERASE
ERNHEETEBRRE, AEMRPNENKRE. TENM. K
N Lo ARE. W BO. BEREESMRERMEEIE,
ANHO  Enter pipe diameter R -~
VEGEKE# 5 B g M pets =
6 | 506 Connected to ®6 pipe 1. REBABAXNRIT, BHERENLEORBENANLHO%E
4
BRAXLD migit, LA MBS A A O 50
2. RIMEMENEE. G2 MEH L5,
=1| AEiERE 8 | ¥ O8E Connected to ®8 pipe B s # ’
Blank | without indicator stick
_ VEG monolithic progressive distributor is a kind of widely used in measuring distribution of grease lubrication system components,
A MBS its advanced design, reasonable structure, due to the internal and external all components are all made by metal, so it can be applied to
with mechanical cycle indicator occasions, working conditions of high pressure and wide temperature change at the same time can also be used in low pressure grease
lubrication system.”
_ VEG whole progressive distributor with progressive type, without pressure relief structure characteristic, can with any type of types
B 'ﬁ?@?iﬁﬁ%ﬁ*}ﬁ?ﬁ%ﬁ including electric, pneumatic, hydraulic oil pump sets for grease lubrication system, for all kinds of big small and medium-sized machine
with electroniccycle switch indicator tool equipment, engineering machinery, wind power, steel, ports, towers and other all sorts of equipment to provide lubrication.
Performance characteristics of VEG integral progressive distributor :
e . , _ 1. Adopting integral design, the sealing performance is better;
C ﬁ‘f‘f’(ﬁﬁﬁ*%ﬁf%ﬁ%}ﬁf%ﬁ 2. The most innovative taper design for oil outlets was adopted. The number of outlets could be randomly combined with oil plugs and a
Wit micro swileh type eyele Indieator special oil outlet connector. More compact and reasonable designs; Accuracy of the fluid output;
B S#Mi&specifications VEG06 VEGO08 VEG10 VEGI12 VEG14 VEG16 VEG18 VEG20
B3O 6 8 10 12 14 16 18 20
A(mm) 60 75 90 105 120 135 150 165
HihE (mL/cyc) 0.2

fE BN R =60cst; B AS0004004,0#,14,2#
HeEhimE >1.5MPa
BAWHED 35MPa

EDRBNEMNHHONE, TEEHERAHBECEESHN—LHROEE, TRHROREAHNE—.
MmO ENMRE—,

www.xingweirh.com

=4—. ME—%, B01f02d MO et SHEE—N

HEUVECEAX D EAFHHAOGHERS H2O. BHIEEFETLUGOIFI2HHARE, WHNEGHEDERFHBOTAIMN,

42




ShiHBRSE

Centralized Lubrication System

I}Eililf.ﬁﬁa%g Current limiting distributor

- -'H' -
_— B Bl
s B =085
| }
i | o}
b TE =3
2 il
0 777 it

VAL -

MO
Quantily of
olioutlets

02 | 23 position

03 | 313 position

04 4{ﬁ position

05 51ﬁ position

HHOHBAER
The quantity of oil outlet
can be customized

HH i R4
Outlet thread

BEM O S Wil O ARKAIMEX 1

1 The inletand outlet threads are M8X1

#HO—AM8X154MEM10X1
il H £ EBM8X1

Tt

Ifi‘éEmDﬁ.E.\ Performance & Characteristics

DPCEUERA T B R ALLAIXELERXEE, RRERRTINERDE
BsiEA: 0.2MPaBE3 iRt/ REEFIRE, RinEsE
i, BESHEHBEBERATHEEEBENIE. . B, €. BMESIIEHEIR
WEAPREEMERENES. FASEGK, WHARLRARERRESHINBHERE
(FREZHES) PR SR AKTZW.

SRR, HEMBE; Lok PEMRBERRE, BRI E4NERBSHERG
i, FELEHEAHER. REL. F—ESHREAELRERAIRETSHIRRER

THMBHHERRNREELZN.

2 Inlet side M8X1The other end M10X1
All oil outlet M8X1
BHHORIAM0x1

3 HIBOM8X1

Both sides of the inlet are M10x1
Oil outlet M8X1

(REBEH) WiREHTH

-1

prais: W ES

Inlet type

| EHO—AREEE 5Lk
fEE Matching pipe cap at one end of oil inlet The
other end with plug

A | EEOFmAHEEER

Matching pipe caps on both sides of oil inlet

MmO EE ik Bk

B | Bo—imfciEk

One end of the inlet main pipe should be
equipped with a right-angle connector and
the other end should be equipped with a plug|

AR LS

Oil outlet proportional fitting number

0 0SBk Proportion joint number 0

1 15 EbfI#EL Proportion joint number 1

25 th sk Proportion joint number 2

35 EuIHEESL Proportion joint number 3

A4St Proportion joint number4

a|l s>l

55 tb Ik Proportion joint number5

DPC type resistance metering piece is also referred to as the proportional joint pipe type

structure, with a restrictor rod and a one-way valve inside.

Start-up pressure: 0.2MPa controls the flow rate through the throttling principle, and

proportionally matches the flow rate according to the flow capacity (flow rate). In the
relubrication system of the same type of metering parts, the distance between the far, near, high,

low, horizontal or vertical installation is basically the same in actual lining use. Long service
life, the proportional joint single-phase rubber seal is lined with a copper sleeve (except the

sealing surface) to prevent expansion and aging of the rubber seal.

The action is sensitive and the oil drain is smooth; the proportional joint single-phase valve

adopts a conical spring to ensure the sensitive action of the metering piece and the smooth oil

drain, and prevent the drained oil from flowing back.Flow rate ratio: The flow rate of the unified
model will change due to the change of ambient temperature and the difference of some

viscosity during actual use.

sp?‘cﬁ%ﬂtﬁns T/T2 OutleH—J; Iq:luﬁnity A B
VAL-021 D4/D4 2 48 35
VAL-022 D4/D6 2 48 35
VAL-031 D4/D4 3 64 51
VAL-032 D4/D6 3 64 51
VAL-041 D4/D4 4 80 67
VAL-042 D4/D6 4 80 67
VAL-051 D4/D4 5 96 83
VAL-052 D4/D6 5 96 83

www.xingweirh.com

43



ShiABRS

Centralized Lubrication System

B MER ] ECE

Single pressurized thin oil distributor

é )
| 5 e
J5 ’51. )
2 -'.*::_ s
: f

PT1/8

B M id B M

ey

o e D

www.xingweirh.com

05 | 0.05ZF+/ R 0.05ml/time

1 | 0.1ZF/X 0.1ml/time

VAC-00- [ —

4 | 0.4ZFHIR 0.4ml/time

0.2ZF+/ R 0.2ml/time

0.3ZF/KR 0.3ml/time

5 | 0.5ZFNR 0.5ml/time

MIBBSREASH.

Models, specifications and technical parameters

B e N i2s =8
Specifications (celey) Mark Weight
VAC-00-05 0.05 53 00 100
VAC-00-1 0.1 53 01 100
VAC-00-2 0.2 60 02 168
VAC-00-3 0.3 60 03 232
VAC-00-4 0.4 71 04 299
VAC-00-5 0.5 71 05 359

BRAHHOHE

Oil volume of 5th oil outlets

VAC-F |

02 | HO%A2{I the Oil outlet is at position 2 SO

Oil volume of 4th oil outlets

03 | HA%H934L the Oil outlet is at position 3 S LIS

Oil volume of 3th oil outlets

04 | 4 %44 the Oil outlet is at position 4 B AHOHE

Oil volume of 2th oil outlets

05 | H A% 954 the Oil outlet is at position 5

F—HHOHE

O volume of 1 of culets
HEFRRAE: (f: SEHHOHEE—#E, JE—NHEESRR)

Bl : VAC-05-23-7RVACEIS 3 Eeeg581.2.3.4, 5O ME 238

0.2ZFH/ R

B2 : VAC-05-532355RVACELS (753 BL 2§ 551.2,3.4. 5O ME D
8090.5;0.3;0.2;0.3; 0.58BFNR,

*E: VACHEEBT-1241

(note: when the oil quantity of all outlets is the same, there is only one oil quantity)

Example 1: VAC-05-2 means that the oil output at the 1st, 2nd, 3rd, 4th, 5th outlet of VAC 5-bit
distributor is all 0.2ml/time.

Example 2: VAC-05-53235 means the oil output of the first 1,2,3,4, and 5 outlets of the VAC 5-bit
distributor is 0.5, respectively. 0.3;0.2; 0.3; 0.5ml/time.

*Note: VAC distributor has 7-12 digits.

44



kb vawe
Centralized Lubrication System

%ibu E Etﬁ 5E ﬁEE%E Single pressurized thin oil distributor

16
|
=1 . | |
MBS REASHK: @ o o
Models specifications and technical parameters — 5@- -
ol | [1o]] L8111 [
It 6 : ; :
- HO Throuhput |
GusE | “owe | A | B € (ccley) : ! i
P! quantity | | I
i | :
Q : : i
VAC-02 2 49 38 68-86 I I :
i | l
I | i
VAC-03 3 65 54 68-86
0.05;0.1;0.2;
0.3;0.4;0.5.
VAC-04 4 81 70 68-86
VAC-05 S 97 86 68-86

#&i¥: CRJ0.1ccA68mm, 0.2-0.3ccA75mm, 0.4-05ccH86mm

Remarks: The measurement of C isrespectively 68mm, 75mm and 86mm when
the throughput is 0.1cc, 0.2-0.3cc, 0.4-0.5cc

VAC/FEREZINEUHE M Bo2s TIERIZE

Schematic diagram of the VAC/F distributor

1 HEMET (INEFFIRD 2 HemA (EAHD 3 HEMTEEE (METE 4itEH CGEEEEH)
TANHRFEXERAGEBR, EoER[MANEHRFFRELES.
2 H5QERIESEFHROISAE, BEFERREENFREH, BLiEREHEFRBAEII L.
BHFEBE FRMSAA, HhtiE25x5E,
AHMREILEMRHE, HOERBTHE, FEhEREDHEIHERER, WNERFZENTE, SEREFOEETEEERT
FaEsE, B¢EEEENAsREHEO, WEELHEFE FERNHAESSTNNUEES LR, B TROMAREESTEE.
1.The lubricant sent from the medium pressure of the oil pump causes the umbrella valve in the distributor to start pushing up the branch.
2.When the umbrella valve closes the core hole of the rod, the piston is forced to overcome the spring force and start to rise, expelling the oil previously stored in the upper cavity.
‘When the piston moves to the top of the upper cavity, the oil discharge is also completed.
3.The oil pump stops supplying oil, and its pressure relief valve opens itself, so that the pressure oil in the main oil pipe returns through the pressure relief valve. At this time, the pressure of the system

decreases, and the piston in the distributor is under the action of spring.

4.Start to reply, when the umbrella valve returns to the closed distributor inlet, the piston sends the oil stored in the lower cavity to the upper cavity through the rod hole, and the next supply is ready.

www.xingweirh.com

45



ShiABRS

Centralized Lubrication System

%i’]ﬂﬁiiﬁiﬁﬂﬁﬁﬁaﬁ Single pressurized grease dispenser

FT1/8

www.xingweirh.com

g O

05 | 0.05ZF/AR 0.05ml/time

1 | 0.1ZF/R 0.1ml/time

VAO 00 ’:} 2 | 0.22FR 0.2ml/time

3 | 0.3ZF/K 0.3ml/time

4 | 0.4ZFHR 0.4ml/time

5 | 0.5ZF/R 0.5ml/time

MBS RIS

Models, specifications and technical parameters

I 5
LR PR N 25 T
Specifications P Mark Weight
(cc/ey)
VAO-00-05 0.05 53 00 100
VAO-00-1 0.1 53 01 100
VAO-00-2 0.2 60 02 168
VAO0-00-3 0.3 60 03 232
VAO-00-4 0.4 71 04 299
VAO-00-5 0.5 71 05 359

VAO-00- L]

FRMNEHOHE
Ol volume of Sth ol outlets
02 | HOA%A2401 the Oil outlet is at position 2 SEPUA RO E
Ol volume of 4th ol outlets
03 | H A% A3AI the Oil outlet is at position 3 S HHOEE
il volume of 3th oil outlets
04 | 4 %9447 the Oil outlet is at position 4 = A

Oil volume of 2th oil outlets

05 | HAHCASAL the Oil outlet is at position 5 S AEORE

Oil volume of 1th oil outlets

MERTAE: (F: SAEHHOHEE—#N, RE—NHEEERTR)

Bi1: VAO-05-2F&RVAORS( 5 Fo a8 581,2,3,4, 6 i ME 2 E A
0.2ZFIR,

512 : VAO-05-53235%&/R~VAORG I EeRE5E1,2,3,4, 6L HIHAESD
51790.5;0.3;0.2;0.3; 0.5ZF/R.

*E: VAORERB7-12(1

(note: when the oil quantity of all outlets is the same, there is only one oil quantity)

Example 1: VAO-05-2 means that the oil output at the Ist, 2nd, 3rd, 4th, 5th outlet of VAC/F 5-bit
distributor is all 0.2ml/time.

Example 2: VAO-05-53235 means the oil output of the first 1,2,3,4, and 5 outlets of the VAC/F 5-bit

distributor is 0.5, respectively. 0.3; 0.2; 0.3; 0.5ml/time.

*Note: VAO distributor has 7-12 digits.

46



ShiHBRSE

Centralized Lubrication System

:

%ibﬂ&ﬁiﬁﬂaﬁﬁaﬁ Single pressurized grease dispenser

16
=y
MBS REASEH: &
R = =2X. w) | [les]][[ok]][]o8
Models, specifications and technical parameters ] | I | { 0t
i i | |
I
= HO% o it A
ﬂj?ﬂﬁ Outlet A B C Throuhput | | : :
Specifications ey (ce/ey) " : : i {
i '
[ I I |
VAO-02 2 49 | 38 68-86 | ] : !
L L
l
VAO-03 3 65 54 68-86
0.05;0.1;0.2 .
50.3;0.450.5. 2— D 6.5
VAO-04 4 81 70 68-86 o
VAO-05 5 97 86 68-86

&iF: CR~0.1ccH68mm, 0.2-0.3ccI75mm, 0.4-05cc/I86mm
Remarks: The measurement of C isrespectively 68mm, 75mm and 86mm when
the throughput is 0.1cc, 0.2-0.3cc, 0.4-0.5cc

VAO 7 NEV HAE 57 fices TIE[RIEE

Schematic diagram of the VAO distributor

|

!
:
% 7
E
1 HEHET CnEFFEsD 2 Himh (mEHD 3 HEHTEE (mETED 4itEHR CGEEEEH)

TNHRPEXHRGEBA, £0kFANSTEFRELES,

2R MIERFFOARAE, BEFERREENDTR LR, B LEREEERBEAEINEL.

SHEERE LEMRAE, HHHttEERE.

4 HRELEMHE, HOERBGTHE, £EhMEAEDHEIEHEREE, LENRAENDTE, SRRPREEEEEFEAT
FEEE, JH¢FREEHDokSEEN, WESEEFE T ERBABI SN UERXE EE, BRI TRAMmEESTE.

1.The lubricant sent from the medium pressure of the oil pump causes the umbrella valve in the distributor to start pushing up the branch.

2.When the umbrella valve closes the core hole of the rod, the piston is forced to overcome the spring force and start to rise, expelling the oil previously stored in the upper cavity.
‘When the piston moves to the top of the upper cavity, the oil discharge is also completed.

3.The oil pump stops supplying oil, and its pressure relief valve opens itself, so that the pressure oil in the main oil pipe returns through the pressure relief valve. At this time, the pressure of the system
decreases, and the piston in the distributor is under the action of spring.

4.Start to reply, when the umbrella valve returns to the closed distributor inlet, the piston sends the oil stored in the lower cavity to the upper cavity through the rod hole, and the next supply is ready.

www.xingweirh.com

47



ShiABRS

Centralized Lubrication System

VAViRij_J,ﬁEE%E Adjustable distributor

o O [

T

L |

%E@

had bod bhaid kol Sad

B o o D o

VAKD £ R] i 53 Hic 28

Tunable distributor with lock

B

VAK/VAKDRIER T H

VAK/VAKD installation dimension drawing

A
2=05.5
s - o L
C1-104
P2l Ly
Fel e
Ps1/8

www.xingweirh.com

“ N-ME8x1.0

BEHRE
specifications

VAV-041 D4/D4

VAV-042 D6/D4 4 48 36
VAV-043 ®6/®6

VAV-061 D4/D4

VAV-062 D6/D4 6 64 52
VAV-063 D6/®6

VAV-081 D4/D4

VAV-082 D6/D4 8 80 68
VAV-083 ®6/®6

VAV-101 D4/d4

VAV-102 D6/D4 10 96 84
VAV-103 D6/D6

VAV-121 D4/D4

VAV-122 D6/D4 12 112 99
VAV-123 ®6/®6

BEHE AOpg  HODE  HO®
A 5 Outlet Quantity
specifications Inlet calibre ;
caliber ofoutlets

VAK-024-04 @4 @4

VAK-026-04 »6 >4

VAK-026-06 »6 »6 2 47 37
VAK-028-06 »8 »6

VAK-034-04 @4 4

VAK-036-04 »6 »4

VAK-036-06 »6 »6 3 62 52
VAK-038-06 »8 »6

VAK-044-04 4 4

VAK-046-04 »6 >4

VAK-046-06 6 6 4 7 67
VAK-048-06 »8 »6

VAK-054-04 @4 ®4

VAK-056-04 »6 4

VAK-056-06 ®6 6 3 92 82
VAK-058-06 »8 »6

VAK-066-04 ®6 ®4

VAK-066-06 »6 »6 6 107 97
VAK-068-06 »8 »6

VAK-076-04 ®6 ®4

VAK-076-06 »6 »6 7 122 112
VAK-078-06 »8 »6

VAK-084-04 »6 4

VAK-086-06 »6 »6 8 137 127
VAK-086-06 »8 ®6

VAK-094-04 ®6 o4

VAK-096-06 »6 »6 9 152 142
VAK-096-06 »8 »6

VAK-104-04 »6 4

VAK-106-06 »6 »6 10 167 157
VAK-108-06 »8 »6

48




ShiHBRSE

Centralized Lubrication System

VABER 1A 53 ERES vAs Side Allocator
VAB- | |-

fuhiz:|mE-4

Quantily of oli outlets

02 2& position i&iﬁiD%SU
Inlet type
03 | 3L positon o HEOAEEER -
== Matching pipe cap at one end of oil inlet The
04 4{& position other end with plug
05 | S position A | EEHOFDHEEEE
Matching pipe caps on both sides of oil inlet
OB RE
The quantity of oil outlet e N .
can be customized HHOEE—mkEAEL

B | Bor—mmREL
One end of the inlet main pipe should be
equipped with a right-angle connector and
the other end should be equipped with a plug

HH i R4

Outlet thread
BHHO S il ER80IMEX o o

L | T inlet and outlet threads are M8X1 BEEARE

Pipeline joint configuration

A —IM8X 153 8MEM10X 1 0 | FESEZE (2A)

2 HIRO2EMEX1 No piping casing cap (default)
Inlet side M8X1The other end M10X 1
All oil outlet M8X1 1 @EEE%[‘]E
BEROMIAEM10x1 Piping casing cap

3 | HEHAMSXI
Both sides of the inlet are M10x 1
Oil outlet M8X 1

L

b
m
28]

== 2_mA.

16_ 16 F-ehs :

& ...|.. 5 1 / O Oueto4 | M8X1.0
7

]‘ o |
L]
=
= ! == M10X1.0
a| A=z \
Va2 Va1

spiizg\lﬁns Ti/T2 Outlet quantity 8 B spiﬁg‘:ﬁns Ti/T2 omlﬁ?ﬁnny a B
VAB-021 D4/D4 2 48 35 VAB-061 D4/D4 6 112 99
VAB-022 D4/D6 2 48 35 VAB-062 D4/D6 6 112 99
VAB-031 D4/D4 3 64 51 VAB-071 D4/D4 7 128 115
VAB-032 D4/d6 3 64 51 VAB-072 D4/d6 7 128 115
VAB-041 D4/d4 4 80 67 VAB-081 D4/D4 8 144 131
VAB-042 D4/D6 4 80 67 VAB-082 D4/D6 8 144 131
VAS-051 D4/D4 5 96 83 VAB-101 D4/D4 10 176 165
VAS-052 D4/d6 5 96 83 VAB-102 D4/d6 10 176 165

www.xingweirh.com

49



ShiABRS

Centralized Lubrication System

VFﬁiﬁﬂgﬂgiﬁﬁ VFG Grease filter

SRS
) ENE
BISHIE S Sy
specifications Mlﬁ;a HEEE RHEE
\ R 1 L H d1
) G
L i
¢ LI
a Saoooe VFG-06 6 80 30 20 4.5
f
| VFG-08 8 120 40 25 ®5.5
y ; 20
2=di(EHTL)
Mourting hoias e VFG-10 ®10 160 45 30 6.5
T
|
Fad i S e ! -
s 2 i
e B VFG-12 012 180 55 35 ©6.5
il Tiiesg oilice
™ A
HBERDFFR Performance & Characteristics
IEHRER T HEEB RS, Oil filter is suitable for grease lubrication system;
iEhE AT ER S R RN DB RS E};fezitlaiill;evi,;tshusieldFtﬁtreerx;ove or reduce impurities from the lubrication system.
bt Ry pr S 1. Install at the front end of the refueling port of the lubricating pump and inject oil agent into the lubricating

3 S 5 Seaw sy [, e, N N ) pump through the oil gun and filter;
1. REEABRMBORGE, BEBE, S0k, EEBRENDB, 2. It shall be installed between the oil outlet of the oil pump of the lubrication system and the oil inlet of the

2. REFTHBRSGHEEHOS S REROZ DR MR ERTHO%R distributor (the quick insert joint of the oil filter to remove the oil injection nozzle). It is installed at the front
g s N e s . . . end of the refueling port of the lubricating pump. Through the oil gun and through the oil filter, oil agent is
L) REABBRIMNEOR, BRI, S0, DEBRIAN injected into the lubricating pump.

SERF;

Diﬁ%ﬂﬂﬁiﬁﬁ Adjustable Oil Fiter

i X
w8 s [HOCH]
H
Y
D
ERERD4S R Performance & Characteristics
1.EDREN, EHEE, REHE 1. Small pressure loss, compact structure, easy installation.
2 TR FEAEIE FHRATIEE; 2. The handle can be rotated for cleaning at any time.
3ERTRPNELEBRET, 3. Suitable for periodic or continuous lubrication system.
RS B -
specifications diameter H L D ik
- D-102 1/4" 120 60 50
o
§ D-103 3/8" 160 75 55
D-310 3/4" 230 100 75
D-312 1" 270 120 75

www.xingweirh.com

50



ShiHBRSE

Centralized Lubrication System

ISR Ol Filter

VF-203EHE8 VF-20 Ol Filter

“Eﬁléﬂ:\[]?ﬁ,.ﬁ—ﬁ Performance & Characteristics

SIERBETIARI20 v, THEREHANEBARER

BAREDTIXR25kg/cm*EREE,RXRE1L/min,iZ
WFE S E30-250cSt

2-M10X1

Filter accuracy up to 20, can be used with resistance lubricating oil pump The

maximum pressure can reach 25kg/cm’ and the maximum flow rate is 1L/min. The

recommended viscosity is 30-250cst

S ERE | EFlow » FH 1 26 2 Y [
- specifications | E(p) (L/min) BK AR (Mpa) i i 1 (mm/s)
R
2.5 -
VF-20 20 L MIAEWEE <2000
NeSNua | R
VTiEHzg VT Qil Filter
‘R‘1/8
(LTI A R
Himn
R1/8 \/
F o Van
STTW
a A
TP e
207 25.4
||'$§E}:ﬁ[]?ﬁ,.ﬁ—7_! Performance & Characteristics
1.ED]REN, EHEEFLRERE 1. Small pressure loss, compact structure, easy installation
2 ERBEE10u . 25 125 p =FATE, 2. Filtration accuracy is 10p, 25p and 125p.
3. ERTRMNELARRRT . 3. Suitable for periodic or continuous lubrication system.
spﬁiﬁgﬁ)ns AR (u) ?ﬁ‘;!ﬁ"f BAITIEEA ( Mpa )
VT-16 10 1.6 3.5
Uizt
VT-25 25 1.6 3.5
VT-125 125 1.6 3.5

www.xingweirh.com
51




ShiABRS

Centralized Lubrication System

PRI EMIE Restrictor bar check valve

connected to equipment
lubricating point(usually
DST-4 DST4 18 used at the end of the

branch).

_PTIB_ memiE | imie e TR
. specifications Marks (CClmin) (connectingmode)
L] DST-0 DSTO 1.8
L ! #E0BES (EE
" ==\ D DST-1 DSTI1 3.8 EB04 ) F(#ZIREN04)ERE
o @ VA 2 RS ST
=k S . Ll R Uiy
: . E N Ga T DST-2 DST2 6 The oil inlet is connected to
i \\ sleeve pipeEB04 and screw
= S DST-3 DST3 12 cap EN04. The oil outlet is

MBX1.0

DST DST-5 DSTS 22

s | e R HEAE 7 2
specifications | Marks (CClmin) (connectingmode)
DSS-0 DSSo 1.8

DSS-1 DSS1 3.8
FinH 85 (EEEB4)
#0 (420BENO04) &,

10

i
)
)

O DSS-2 | bss2 (RBF BRI )
Both ends are connected to
— DSS-3 DSS3 12 sleeve pipeEB04 and screw

cap EN04 (usually usedat
middle end of the branch).

DSS-4 DSS4 18
DSS DSS-5 DSS5 22
wemE | iwe i BT
specifications Marks (CC/min) (connectingmode)
DPB-0 DSTO 1.8
= BEHO75E 5(VABE)SH
=y : b DPB-1 DST1 3.8 k. HimO0sEs5 (B
| N R
S EE. (BRFZHEER
- o = 1——69— - B DPB-2 DST2 6 The oil inlet is connected to
= oil distributionblock (model

\\__ DPB-3 DST3 12 VAB). The oil outlet
isconnected to screw cap
EBO04 with thesleeve pipe
DPB-4 DST4 18 (sleeve pipe EN04).

DPB-5 DST5 22

“I }T[]:ﬁ,..\ Performance & Characteristics

DST/DSS/DPCEMMA T EM X B ALLAILIZLERNEE, RRERV/ITFNRQDEENES: 0.2MPa

BEPREAREZFHRE, RRERD (RETH) WREHTLATE. BESHEHBRBRATHEDESNE. L. 5. |,
EMRE R AEXIREERTEHEREELRBEE . FRE® ’rx LepliEk BB EEBRBEHR G ERE (BRESES) LR
REFHRKINEMN. DMERHW, HEAGHE; WHZRLBECRBETSE, BRIUFEGNERMSHRGE, FHIERRHAMER.
REL: A-ESHREALMERIEFTSHRNREENZTHUNENHEFRMAELZN,

1.DST/DSS/DPC resistant measurement device is called proportional joint.

2.Pipe structure: built-in flow limit bar and one-way valve.

3.0pening pressure: 0.2MPa

4.Flow is controlled by the principle of throttling, and distributed according to flowing capacity (flow constant). Meanwhile, the measurement device in the
lubricating system with near, distant, high, low, horizontal or vertical installation have identical outlet flow. With long service life, the rubber sealing parts of the
proportional one-way joint is coated with copper sleeve (except sealing face) to prevent expansion and aging of rubber sealing parts.

5.Sensitive action and smooth oil drain: taper spring is used for one-way valve with proportional joint to ensure that action of the measurement device is sensitive
and smooth to prevent reverse flow of oil.

6.Flow ratio: flow of the same model shall be changed with change of environmental temperature and oil viscosity in use.

www.xingweirh.com

52



ShiHBRSE

Centralized Lubrication System

vawe

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

SAEESL Tubing joint

:
EA-4 o4 M8X1 12 8
. i EA6 ®6 M10X1 12.5 10
> EA-8 o8 M12X1 14 12
AN EA-10 ®10 M16X1.5 16 16
EA-12 012 M20X1.5 18 18
148 Sealing ring
1= L2 D d L =it
EB-4 o4 ®4.1 o4 45
EB-6 ®6 06.1 ®6 5
@ 5 EB-8 ®8 ®8.1 ®8 6.5
L EB-10 10 ©10.1 10 7
EB-12 012 012.1 012 8.5

EE?%% Straight through joint

= EME D d L S %iE
ED-406 M6X1 15 8
ED-406-1 M6X0.75
ED-408 4 M8X1 M8X1
ED-418 R1/8 16 10
ED-410 M10X1
ED-608 M8X1
BE ED-618 R1/8 17 12
o S ED-610 »6 M10X1 M10X1
ED-612 M12X1 18 14
ED-614 R1/4 20 14
ED-810 M10X1
ED-818 »8 R1/8 M12X1 26 17
ED-814 R1/4
ED-1018 R1/8 22 18
ED-1014 10 R1/4 M16X1.5 29 18
ED-1038 R3/8 33 19
%ﬁ‘g\@ﬁ% (.I—.El"li_l) Unidirectional straight joint (Forward)
K= B E D d L S &iF
ED-4081 M8X1
L ED-4181 >4 R1/8 M8X1 22 10
ED-4101 M10X1
N
bkl ED-6081 M8X1
ED-6181 »6 R1/8 M10X1 24 12
ED-6101 M10X1

www.xingweirh.com




vawe s ARG
Centralized Lubrication System

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

%F':]E@E% ()irﬂﬂ ) Unidirectional straight joint (Reverse)

RS EIME D d L S #&iE

ED-4082 M8X1

L ED-4182 4 R1/8 M8X1 22 10
d ED-4102 M10X1

N

wanTm ED-6082 M8X1

ED-6182 6 R1/8 | m10x1 24 12
ED-6102 M10X1

E%?ﬁ% Angle coupling
EL-406 M6X1 15
EL-406-1 M6X0.75
EL-408 4 M8X1 M8X1 18
EL-418 R1/8 16
S EL-410 M10X1
EL-608 M8X1
EL-618 R1/8 17 20
O EL-610 »6 M10X1 M10X1
EL-612 M12X1 18 22
EL-614 R1/4 20
EL-810 M10X1
EL-818 »8 R1/8 M12X1 26 29
EL-814 R1/4
EL-1018 R1/8 22 29
EL-1014 ®10 R1/4 M16X1.5 | 29 29
EL-1038 R3/8 33 29
%ﬂgﬁ?ﬁ% (_I—_EI"ETJ ) Angle coupling (Forward)
K= EME D d L S &iF
EL-4081 M8X1
EL-4181 o4 R1/8 M8X1 22 10
EL-4101 M10X1
EL-6081 M8X1
EL-6181 ®6 R1/8 M10X1 24 12
EL-6101 M10X1
%I‘QE%E‘E% (}ilﬁj ) Angle coupling (Reverse)
K= EhE D d L S &iF
EL-4082 M8X1
] EL-4182 4 R1/8 M8X1 22 10
EL-4102 M10X1
]
/ EL-6082 M8X1
d
D/ %_' EL-6182 ®6 R1/8 M10X1 24 12
EL-6102 M10X1

www.xingweirh.com

54



bk vawe
Centralized Lubrication System

ﬂ‘i.l iﬁ' M‘.Hq: Lubricating accessory

:FEE% Ezc% Plane square joint

A= D d L S &
M8X1 M8X1 20 12
EPL-410 M10X1 M8X1 20 12
4 *“- A (\ EPL-418 R1/8 M8X1 21 13
V3 =
. ad EPL-608 M8X1 M10X1 22 13
D EPL-610 M10X1 M10X1 22 13
EPL-618 R1/8 M10X1 22 13
EPL-G1818 R1/8 G1/8 21 13
755]E]EF£§E Movable straight through
K= =EINES D d L S &
EDH-408 M8X1 28
d EDH-410 P4 M10X1| M8X1 10
Ry N . EDH-418 R1/8
% 2 EDH-608 M8X1 50
' EDH-610 6 M10X1| M10X1 0
EDH-618 R1/8
EDH--G1818 R1/8 G1/8
E3LHZE Flat head oil plug
K= D L S £ 33
L
ES-06 M6X1 10 6
I ES-08 M8X1 11 8
/ s D
g PS-XX  FimgE ES-R1/8 R1/8 13 10
ES-10 M10X1 13 10
H#ERZEHZE Flat head oil plug
L K= D L S %
w ES-87 M8X1 14 12
S D
ES-10Z M10X1 15 14
ﬂ’%?%%k Joint nut
S L
—
D %\
= _Lg EN-04 o4 M8X1 12 4.2 10
= EN-06 o6 M10x1 12 6.2 12

www.xingweirh.com

55




vawe s ARG
Centralized Lubrication System

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

TESE AESL Adjustable right Angle joint

B E
ELH-408 M8X1
P ELH-418 D4 R1/8 M8X1
s é“f ELH-410 M10X1
: ELH-608 M8X1 28 29
G / ELH-618 R1/8 | M10X1
D6
ELH-610 M10X1
ELH-G1818 R1/8 G1/8
J\—Eﬁiﬁé% Attachment joint
KS D L #iE
o g \\\\\\\\\\ N EJ-06 M6X1 20
= r- I
L I EJ-08 M8X1 23
EJ-10 M10X1 27
9H§‘5&J\E}§‘§E External double—pass connection
(=) D o! L S &t
T-6-8 M6X1 M8X1 20 8
T-8-8 M8X1
L T-8-10 M8X1 M10X1 23
T-8-R1/8 R1/8 10
T-10-10 M10X1 M10X1
T-10-R1/8 R1/8 25
D S \i T-R1/8-R1/8 R1/8
T-R1/8-R12 R1/8 R1/2 30 22
T-R1/8-R1/4 R1/4 27 14
T-R1/8-R1/4 R1/4 R1/4 30 14
T-R1/4-R3/8 R3/8 30 17
Wﬂ‘?{%iﬂﬁﬁ% Connect inner and outer double — pass joint
K= D d L S #iE
2T-8-8 M8X1 M8X1 24 10
2T-8-10 M8X1 M10X1 24 12
2T-10-10 M10X1 M10X1 26 12
S
D 7 oT-10-12 | M10X1 | M12X1.25 29 14
\ 7
N 2T-8-G1/8 | M8X1 G1/8 23 10
2T-10-G1/8 | M10X1 G1/8 23 12
2T-14-G1/4 | M14X15 | G1/4 33 16
2T-16-G1/4 | M16X15 | G1/4 36 18
2T-18-G3/8 | M18X15 | G3/8 39 21

www.xingweirh.com




bk vawe
Centralized Lubrication System

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

Eﬁ:ﬂ Qil brush

"~ 0

=18k T-junction

w
3T-8-8 M8X1 M8X1
\__ 5 3T-8-10 M10X1 M8X1
' N | 30 | 22 | 12
Yl . §K1| 3T-10-10 M10X1 M10X1
s \EE\SE
A “ 3T-G1/8-G1/8 G1/8 G1/8
i 3T-G1/8-G1/4 G1/4 G1/8 31 | 25 | 18
3T-G3/8-G3/8 G3/8 G3/8 40 31 21
U”\MH%EJE?g% Side external tee joint
KRS D d L S % *
3T7Z-8-8 M8X1
- b s 3TZ-8-10 M10X1 M8X1 30
2-d _a_
& ) _[_E 37Z-8-1/8 R1/8 .
' | 3TZ-10-8 M8X1
L
3TZ-10-10 M10X1 M10X1 30
3TZ-10-1/8 R1/8
1FYME= 181k Positive external tee joint
K= D d L S %3
37G-8-8 M8X1
s D 376-8-10 M10X1 M8X1 30
==
INT 3TG-8-1/8 R1/8 12
L 3TG-10-8 M8X1
37G-10-10 M10X1 M10X1 30
37G-10-1/8 R1/8
@IFERQJET%% Fixed double — pass joint
K= D d L &%
2TD-8-8L M8X1
o @iﬂ 2TD-8-1/8L M8X1 G1/8
(o \‘ A d
—4 - 2TD-8-10L M10X1
8 __'T'—/_ 30
N 2TD-10-10L M10X1 M10X1
2TD-10-G1/8L M10X1 G1/8
2TD-G1/8-G1/8L G1/8 G1/8

www.xingweirh.com




ShiHBRSE

Centralized Lubrication System

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

3@%?)3% Spring sheath
e K= ) d #ix
R‘\\‘_’m EHT-04 ®5.5 ®0.5
i Bl
) EHT-06 7.7 0.6
uii EHM-04 ®5.5 ®0.5
a % B
EHM-06 7.7 ®0.6
%‘5@%}"&% Pipe clamp specifications
=
et L
—~ L TT
) T BRI
) L
KE o2
1 EC-1104 o4 1 0.8 10 19
2 EC-1204 4 2 0.8 10 23
3 EC-1304 4 3 1.0 10 27
4 EC-1404 4 4 1.0 10 31
5 EC-1106 6 1 0.8 10 20
6 EC-1206 6 2 1.0 10 28 5.5
7 EC-1306 6 3 1.0 12 30
8 EC-1108 "'»% »8 1 1.0 10 22
9 EC-1208 8 2 1.0 12 30
10 EC-1110 ®10 1 1.0 12 26
11 EC-1210 10 2 1.2 12 40
12 EC-1112 12 1 1.2 12 30
13 EC-1115 ®15 1 16 20 42
14 EC-1122 22 1 1.6 20 42 7
15 EC-1128 28 1 1.6 20 55
16 EC-1133 33 1 2.0 24 8.5
17 EC-1144 44 1 2.0 8 7
18 EC-2404 4 4 1.2 8
19 EC-2504 o4 5 1.2 3
5.5
20 EC-2604 4 6 1.2 8
21 EC-2406 6 4 1.2 10

www.xingweirh.com

59




vawe s ARG
Centralized Lubrication System

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

@IFEEJET%% Secure tee joint

P L Ke D d L s &3
% mi'—L‘_@\j @ 3TD-8-8L M8X1 ®5.2 28 14
3-D d 3TD-10-10L M10X1 ©6.5 30 20
@EEE}%% Fixed tee joint
L
—= HH
ess
H@Ti_' - 4TD-8-8L M8X1 5.2 28 | s##4%
o
e 4TD-10-10L M10X1 ®6.5 30 | #H&®
E/Hﬂug Grease fitting
A= D a L S % i
HY-106 M6X1 12 8
HY-108 M8X1 15 10
HY-110 M10X1 0° 17 12
HY-114 R1/4 24 13.5
HY-118 R1/8 17 11
HY-206 M6X1 16 8
HY-208 M8X1 21 10
oy HE HY-210 M10X1 45° 21 12
=45 45° THR MM
S0 oy HEMM HY-214 R1/4 26 13.5
HY-218 R1/8 21 12
HY-306 M6X1 16 8
HY-308 M8X1 19 10
e AT R 90°
B0 :HY-118T HY-310 M10X1 22 12
HY-318 R1/8 22 12
793%7‘?? Tubing bushing
RS D d L &i*
ET-4X2 3.8 2 9
’ ET-4X2.5 3.8 2.5 9
. - R 5 —
N d F——r D ET-6X4 »5 4 1
L
ET-8X6 7.5 6 15.5
ET-10X8 9.5 8 18

www.xingweirh.com

58



vawe

ShiABRS

Centralized Lubrication System

ﬂ‘i.l 5‘% M‘.Hq: Lubricating accessory

EE%%:T:E,FHH( Qil cup with spring cover

Bl = A2 (cm) d ] H
ey
\ SYB-106 1 M6 x 1 9 20
e .
| SYB-108 1 M8x1 10 21
g
SYB-118 1.5 M10x1 16 32
SYB-110 1.5 M10x1 20 39
EEEKE?E/EEM: Pressure matching type oil filling cup
B S d H W Bk it
PYB-106 6 6 4
. PYB-108 8 10 5
| PYB-110 10 12 6
- PYB-116 16 20 11
PYB-125 25 30 13

ﬁﬁ%l_:t;fﬂﬂﬂ( Screw—cap filling cup

RYB-110-®16 1.5 16 12
m% RYB-110-020 3 mioxt | 20 | 14
D
T RYB-110-$26 6 26 14
|- S RYB-114-$32 12 32 17
% RYB-114-®36 18 36 17
M14X1.5
d RYB-114-®41 25 41 19
RYB-116-®50 50 50 22
RYB-116-®63 100 M16X1.5 63 24
§$%E§it§%,ﬂﬂﬂx Spring cover type right Angle oil cup
RS d L H %3
; (— SYB-306 M6XA1 24 18
Tﬂf \ SYB-308 M8X1
' w - SYB-310 M10X1 28
= 24
SYB-318 R1/8
SYB-318L R1/8 345
%‘l’”ﬁibi;ﬂﬂﬂ; Needle valve type filling cup
: NYB-16 16 32 100
M10X1
NYB-25 25 40 110
b * NYB-50 50 51 125
M14X1.5
NYB-100 100 64 140
NYB-200 200 70 170
] M16X1.5
‘ NYB-400 400 85 190

www.xingweirh.com

60



bk vawe
Centralized Lubrication System

THE Pipeline

® S D d & iE

B ESO-4X2 D4 o2

ESO-6X4 D6 P4

ESO-8X6 [OF] 6

Y ESO-10X8 ®10 ®8

ESD-4X2 D4 2

ESD-6X4 »6 P4

ESD-8X6 »8 (O3]

ESD-10X8 10 [OF]

ENL-4X2 D4 2

ENL-4X2.5 D4 ®2.5

ENL-6X4 D6 P4

ENT-4X2 D4 2

ENT-6X4 (03] 4

ENT-8X6 [OF] 6

L FR =] EE%:J;T?:d] 1§’5H/|3F}):Téj] f-i" I‘%ﬁ
? N L

{ /s |iee=—==t—===% | OSP-4 ®4 3.00 R20 M8X1 |d6 | EW
fhx“’“_—*’ «: gﬁ#ﬂ%
/ OSP-6 D6 2.70 R40 M10X1| P8 | R

EST%M&%?R?ETF‘EEﬂ% OST Steel wire woven cloth sheathed hose

BEEME KE 2 : B & Sh 12
d L d
EST-4100 100 EST-6100 100
EST-4200 200 EST-6200 200
EST-4300 300 EST-6300 300
EST-4400 400 EST-6400 400
EST-4500 500 EST-6500 500
. L | EST-4600 600 EST-6600 600
:t: EST-4700 ®4 700 EST-6700 ® | 700
EST-4800 800 EST-6800 800
EST-4900 900 EST-6900 900
EST-41000 1000 EST-61000 1000
EST-42000 2000 EST-62000 2000
EST-43000 3000 EST-63000 3000

www.xingweirh.com

61



vawe

ESGEEINE

ShiABRS

Centralized Lubrication System

1=
S s EshEO R L(mm)
€SG-01 MEESERE ®8.5 20MPa
ESGD-04 EBBESEk »4 20MPa o =
€SGD-06 EBBEEEk »6 20MP. ﬂi&ﬁﬁ)ﬂﬁ%;ﬁ
- o a — —1 1=
— EHAEKE
ESGL-04 EEEE=EN >4 20MPa
ESGL-06 EEEE N »6 20MPa

e ~
%E%Ei’: High Pressure Tubing Joint
SEEELIEHigh pressure adapter jacket

SEEHMSThe high pressure pipe goes straight up to the core

L3 SW L2
; r
7y X ] 5 ). IXMM. _TT - o
4 <
™ ) I . | = N 3 Y
a T T ] 9y 0 %
RO NS ' e e
L1 - L2 >
HMBRS GE) [ZESS
ModeI(Ou-tzr Casing) el D2 D3 L L2 L3l Sy Material
ESGD M7X0.75 ®11.8 ®11.7 28 4 8 12 #NSteel

BEEELIEHigh pressure adapter jacket

= EEZ K The high pressure pipe bends the rising core

L3 SW L2
7y X ]
™ ) a | N | ‘—‘ N
a T _]' ol 0O
Y N y
o L1 N
MRS G E) 7]
Model(Ou;Zr Casing) 07 oz 0% L Lz L3 e Material
ESGL M7X0.75 ®11.8 ®11.7 28 4 8 12 $NSteel

www.xingweirh.com

62




ShiHBRSE

Centralized Lubrication System

vawe

VW O =zn:0msm:am

Pneumatic butter oiler

1. AEBFERATESEEE: 0.6~0.8MPa,

2, EEFERTBESEAEADN, BUERER.

3. RETFHEREER, £ 0#~1#, 275 2#~-3# (SO ENHAEYGEER)

4. BEDKNEEHASETIE, UREBHEIR,

5. PR ABBRS .

6. FLETIERY, BXAKBEFFOEEERNES,

7. TE7T2/NR/RE N RER], FERSEARSBIIVLIREE, BeTERMms
RS, il.

8. ETERTEHRSE, BEHE.

1. The safe air pressure range of the equipmentis 0.6~ 0.8mpa.2. Itis strictly

prohibited to use combustible gas as power, otherwise the consequences

shall be borne by the owner.3. Use lithium base fat according to season,

winter: 0#~1#, summer: 2#~3# (please mix a little oil and adjust the use after

all)4, do not long time no load reciprocating work, so as to avoid component

wear.5. Itis strictly prohibited to spray humans and animals.6. When the work

stops, please close the air source and discharge the pressure in the pipe.7.

The pressure regulating valve must be removed and lubricated with oil in the

gas distribution to avoid leakage and crash caused by dry friction.8. Pay
attention to regular maintenance and clean the oil pipes.

BSME

specifications

e WAESES
fiit@Oil reserves (MPa) Input air pressure

VWO-16 16L 0.4~0.9
VW0-30 30L 0.4~0.9
VWO0-40 40L 0.4~0.9

VWG=znm:mie

Manual oiling sprayer

ERFTEREERM. MEEEHRFINHEF
iR IR N\ AR 1 5K G 2 7 fm i 18 BE A PO BD B #R4F o
BEoE. MR, BRIz

&1 SR E S RIEREL

FERNE. RERE: 000#-2#2EE . N22-N320H1HH-20~80° C

. Applicable for various thin oil, oil grease lubricating pump additive oil pump.
. The refiling oil pump is inserted into standard 15Kg bucket commercial
lubricating grease then can be operated.

. Portable, simple operating and extensive application,

. Configured with 1.5m flexible pipe and quick plug.

. Media and environmental temperature: 000 -2 lithium base grease and
N22-N320 machine, machine oil -20~+80C

spfﬁgﬁns VWG-10Z VWG-10ZA
iR 8Nominal flow mL/CY 10 10
23MREINominal pressure MPa 2.0 4.0

www.xingweirh.com

63



vawe RABES
Centralized Lubrication System

Sthes
7E|! ETI'E Oil quantity calculation

1L.ERHBREMNERSE
R BRI R ER LT IR 317

MitE > fmARAMEE > FE4NEE > HERN%EE

i

B

O EHEMNITEAZE

H AR B 1o

AR ity BRAhR, R EAR K
oL s 3 4% H80mm,
(GREVHIR . BRER . AR R, AVRRES
) . SRR/ BT Z
M Q(m1/h)=0.04 x FZ x 5% x K
Q=0.04x8x1=0.32(c.c/hr)
IGEZIELES BB — W SR, TR AR, W
=N WAEEQ (m1/h) = 0. 023 XEE 4 4E renT e, B T
O . K100mm3540mm, R4 /NG F s 22 i &
M XHR R XK 0=0.023x8x10=1.84(c.c/hr)
- TH L a il Q(m1/h)=0. 5 -
H{?;’;Q(r;h; 0;);;” ;(fff; iy | TSR, SR S0,
@ S R BEAK I 7 100mm, SRAE /N P 2 00 Bt
H b.Q(m1/h)=0.006 x (Bahf K 1000651 0x4=0.24(c.o/h
ST ) x BEIE x K (I 7 1) (=0-006x70x4=0.24(c.c/h)
IR b 541 o MRA(n1/h) = 0. 023 XEf X (A — IRk, FA2 A80mm
(gﬂ]ﬁ“&b’i*ﬂ’ FX K ( /J(q:/{ [a]) K9 100mmaR 45 /N3 78 2 JH it
b, MEQ(mi/h)=0.07 X X
R PE K + 17 T K (0 277 ) (=0.023x8x10=1.84(c.c/hr)
AR AT — R, K Ommitt
WQ (n1/h) =0.012 XBENIE Wi e
e BOR2, SRAEE/INE T Z .
R X SR XK (0=0.012x8x2=0.19(c.c/hr)
g
HEEQ (n1/h) = 0. 013 X Ffilt[ AT — AL, AR K H200mm
FE20mm, SRARN TR Z i .
J X 58 JE X K 0=0.013x20x2=0.52(c..c/hr)
['L]?f/l:\, L ANt P4 K- St
W Q (ml/h) = 0. 046 X B2 R —A %41];%;uk300mm, £ 5E8mm,
RN 2
XX K 0=0.046x8x2=0.74(c.c/hr)
B 2% . - e
WEEQ (n1/h) = 0. 008 X i X A —I1E N 5e, wﬁlﬁ{:ﬁSOmm
& ’ U 5820mm, KA T 2
KEXK (0=0.008x30x0.8=0.19(c.c/hr)
XHRKE., HERBEAMNE N cn, R8K MEEE, 58aEERx, HK,

www.xingweirh.com

64



ShiHBRSE

Centralized Lubrication System

Sthes
7E|! El‘l’% Oil quantity calculation

2.8 ERRBERE

8B Ak BT
ISOMEELR
_— =g 10 HFRIETFHMR12 +
— % 22,32 YSREFHRI2 HFREMEAVIMRI2 b
FEIRERE 32,46,68 R IEIAHIMR32-R68 F—
B 32,46,68 Y RIEIRHLHR32-R68 E—
R 32,46,68 4RI HLHR32-R68 E—
; HATERE 32,46,68 O ETRHLER32-R68 -
Site 150,220 BEHLIHM150,220-R68
. HEEBS = : :
— 65 TBEHH68
&1 E S R EB) 2B 32,46,68 R32-R65, OR HD32-68 E=
] SEL 3
"HE iHAE 1, .
B M. BRERE. O 32,46,68 R32-R65, OR HD32-68 - ol
s it 150,220 FBEHLH150,220-R68
. HTiEs =2 ’
ﬁ . RERES —i 68 i Hlihes
I
hehiz g R32, R46, R68
HENE ! 32,46,68
HERRE e SHMIENO.1, NO.2
R BiE— 2,3,5,7,1 32 R12 R32 =
HETREE 32,46,68 R32, R46, R68 E—
o Ea 150,220 . 150, 220
B R HEMERE T o AL
r:E 4
hEESED 32,46,68 R32-R65, OR AW32-68 =
- 1) 78 i 32 46.68 R32, R46, R68
HERAS peve 46 SHMIENO.1, NO.2
Ek 32 R12
B 32,46,68 R32-R65, OR HD32-68 b ol
£ B K. BHE mRE 150,220 BiE150, 220
7 v —f 68 #Bit68
=i i 32,46,68 R32, R46, R68
AERR B LHMAENO.1, NO.2
3% 32 R32
ELimsh|E 68 Bi&68
o Y] 32,46,68 R32-R65, OR HD32-68 b ol
K K. HEBZE 68,150,220 /3i&68, 150, 220
t‘itﬁl..
"HE iHAE 1, .
. tESL. MskERE 32,46,68 R32-R65, OR AW32-68 =
ol . k. EXHBHE 68,150,220 Bi&68, 150, 220
oe i EERDED 32 R32 =
PR, i 32 46.68 R32, R46, R68
HEFEEFH s ,40, S HMPENO.1, NO.2
ELiBEHE i R EED #B 32 R32 =
B, B 32,46,68 R32-R65, OR HD32-68
® B, HEBEE 68,150,220 784168, 150, 220
A7
# - i R32, R46, R68
[, 32,46,68 o
HEEBH g £3HAENO.1, NO.2
Ek 32 R32
= FE, EERE 68 R68, OR HD-68 b ol
§ i E AN ED 32,46,68 R32-R65, OR AW32-68 - ol
%E wEe. HEEgsE 68,150,220 iBiEHH68, 150, 220
i R 3 52,4668 R32, R46, R68
HEEEA e ,40, S MAENO.1, NO.2

www.xingweirh.com

65




vawe

SHINBRSR

Centralized Lubrication System

"I%'l EE&BE&HH%H 5* Common faults and troubleshooting methods
FR N8 IR B WS R HEBR 75 3%

Common faults and troubleshooting methods of Electric Lubricating Oil pump

Fs EE R HEBR 75 %
Serial number The phenomenon of Why Elimination merhod
FERBEARY {55 FR IEff FB [ FB iR
Wrong voltage Use the correct voltage power supply
E&EIR RIEMNBSEEE RS
EEH R Wrong Wiring Connect according to the correct electrical wiring diagram
1 Motor does not turn
RREBELRER (KB ABAEWAL
W N TR DA (R 5B U5 56 B1E)
Suckin tiny grains of sand and trap the gear Remove bottom gear pump cleaning (this must be
operated by a professional)
ENREHEAR BiENF
The pressure gauge is damaged Replace the pressure gauge
FHE MR METHE, HRtERR
Main line leakage Check the oil injection pipe to eliminate leakage
EHRE SERSR A S A 3P 7 BB I E S B DR KR
2 When the oil pump is pressurized, the oil comes Check and update the reversing valve in the distributor

Insufficient pressure.

out seriously

of the oil outlet branch

AR R B R

The oil pump overflow valve does not seal well

FTE

Remove and clean

MO 4k B2

The oil swuction is blockage

EVERTE, LR

Clean the fuel tank and filter at the suction port

3 i

don’ tgive oil.

RAZSKAE

The airin the pump is not cleared

ZIURERR, HERMRFHOBERMR
Pump the oil a few more times, loosen the port and
pump the oil if necessary

B

Motor does not turn

RNEFS1IT
See item 1 of serial number

4 3 >
the oil quantity is little

Rl O 4kt

The oil suction portis blocked

VIR O Ak T8 R

Clean the filter at the suction port

e RN

The overflow valve is not well sealed

I S

Remove relief valve cleaning

5 FENFFXES

Pressure switch malfunction

REFEDTE

Undersystem pressure

IEERAGKENVBAAT1.0MPa
Check pipeline system pressure must be greater than
1.0MPa

E&%EIR
Wrong wiring

REESELEIERES

Correct wiring according to electrical wiring diagram

6 Tt %2 2

the levelswitch failed

FERSmE R
The float hit the oil tank.

RIEBRMFF R B IE

Try to correct the position of the liquid level switch

; RS

Qil pump motor

REPLCIEFIRIRLERMEE KB
RSB ETREPLCES

System plc control power supply the is too long

or the power cord is not passed system plc control

EMRE

Correct setup

280 & B AN 45 AT B BN

Digital tube computer set too long to oil

EHRE

Correct setup

www.xingweirh.com

66




a9 N
Centralized Lubrication System

Iﬂkm ﬁﬂ 3% 5E *IJ I:IEII:I _%1% List of lubricating oil products for industrial use

X |OSHMtE  HAE HRERIMH

Form 108 specificatioiscosity PetroChina
VG-32 32 =40 EIRHLHR 32 DTE Light Teresso 32 Turbo T32
hEFERANYE | R&OE | VG-68 68 1 4p IR N R 68 |DTE Heavy medium Teresso 68 Turbo T68
VG-150 150 @ HMHD 150 | DTE Extra Heavy Teresso 150 Corena H150
LEAE b
VG-150 150 BB HLMHD 150 Mobilgaed 629 Spartan EP:150 | Corena 150
FREBRDEL
1R85 ) WER | VG-320 320 | 4%E#LEHD320 | Mobilgaed 632 Spartan EP:320 | Cmaia 320
VG-460 460 HERHMHDA460 Mobilgaed 64 Spartan EP:460 Cmaia 460
VG-2 2 Velocite 3
WAEER| i, A |R&OE | VG-10 12 | BSREIRALHR 2 Velocite 6 Spinesso 10 Vexilla D10
VG-22 22 =40 BRI HR22 Velocite 22 Spinesso 22 Vexilla D22
B VG-68 68 BN REES VectraNO.2 Febis K68 Tonna T68
B E BIEE {REEH
e VG-220 220 | sgmamiEmE220 | VectraNO.4 Febis K220 Tonna T220
VG-32 32 R IETRYL AR 32 DTE Light Teresso 32 Turbo T32
R&OEY
VG-68 68 R IR R 68 |DTE HeaW medium Teresso 68 Turbo T68
HEFR |  HERE
VG-32 32 RIEH3I2AW DTE24 Teresso EP:68 Tellux C32
MEEE
VG-68 68 R EHE68AW DTE25 Teresso EP:68 Tellux C68
- MLGINO.1| = %5mAENO .1 Mobilux1 Estan NO.1 AlvaniaNO.1
e | R | SuE i
MLGINO.1|  =%5mAENO.2 Mobilux2 EstanNO.2 AlvaniaNO.2

www.xingweirh.com

67



	2: 目录
	页 4
	页 5
	页 6
	7: 容积式安装示意图
	8: 加压式安装示意图
	9: 抵抗式安装示意图
	10: 递进式安装示意图
	11: 黄油泵
	12: 黄油泵
	13: 油脂泵
	14: 油脂泵
	15: PLC稀油泵
	16: PLC稀油泵1.8L
	17: PLC稀油泵2L
	18: PLC稀油泵4L
	19: PLC稀油泵10L
	20: PLC稀油油脂2L
	21: PLC稀油油脂4L
	22: PLC稀油油脂10L
	23: 微电脑1.5L
	24: 微电脑2L
	25: 微电脑4L
	26: 微电脑10L
	27: 2L微电脑稀油油脂
	28: 4L微电脑稀油油脂
	29: 10L微电脑稀油油脂
	30: 4L微电脑大油量稀油油脂
	31: 4LPLC微电脑大油量稀油油脂
	32: 2LPLC大油量稀油油脂
	33: 喷雾器
	34: PLC油雾泵
	页 35
	36: 手动泵
	37: 手动泵
	38: 摆线泵
	39: 容积式分配器
	40: 加压式分配器
	41: 递进式片式分配器
	42: 整体式递进式分配器
	43: 限流分配器
	44: 单支加压式稀油分配器 
	45: 单支加压式稀油分配器 
	46: 单支加压式油脂分配器 
	47: 单支加压式油脂分配器 
	48: 可调分配器
	49: 单边分配器
	50: 过滤器
	51: 过滤器
	52: 限流杆
	53: 润滑附件
	54: 润滑附件
	55: 润滑附件
	56: 润滑附件
	57: 润滑附件
	58: 润滑附件
	59: 润滑附件
	60: 润滑附件
	61: 油管
	页 62
	63: 手动加油枪
	64: 油量计算
	65: 油量计算
	66: 常见故障及排除方法
	67: 常见故障及排除方法

